DIAGNOSTIC OF PROCESSISNG BY THE RES and TRAN MODULES FOR THE SENTENCE “The sky is blue.”

(Commentary in red was prepared for IIIT, Hyderabad,India in the Spring of 2010.)
(See elsewhere for diagnostics for the dictionary-lookup function and for the RES modules)
NOTE to IIIT:  it was impossible for me to make intelligible all the numbers and codes of this diagnostic.  I can however address specific questions in matters that are important to you, beyond those that I cover here.  I assume that the English component of this system will be more or less used as it presently is, and that your interest lies primarily in knowing how to add a new Hindi target. So in what follows, I will deal with source matters more at the conceptual level and try to focus more on helping you understand the target language functions, which in this case is for German.  But even here, given its abundance and complexity, one can only deal cursorily with the material. Hopefully through questions and answers, matters will gradually clear up. 
(There is a paucity of up-to-date documentation available to me and what I do have available to me is rather outdated, alas, and much of it cryptic and/or incomplete) on both source and target matters, but in a quantity still far too large for me to convey to you by this smethod.  The German DFKI is known to have much more up-to-date documentation but it is hardcopy and informal. I do not know if any of what DFKI has is in a distributable form or even that DFKI would be willing to sift through it without compensation. Perhaps if they felt interest was growing in accessing Logos internals, their attitude might change.
[settings]

sessionId=7542

jobTypeName=translation

sourcelanguage=english

targetlanguage=german

companyCodes=LOG

subjectMatterCodes=001

extendedSearch=2

protectionCharacter=@

targetForm=1

sourceLocale=.,/:.mdy

targetLocale=,./:.dmy

diagnosticLevel=3

diagnosticStartLine=1

diagnosticEndLine=2147483647

wordSearchOptions=

wordSearchFoundLimits  =1 1

wordSearchUnfoundLimits=1 1

flagUnfoundWords=No

mainRes1  =

mainRes2  =

mainRes22 =

mainTran1 =

mainTran2 =

mainTran3 =

mainTran4 =

mainParse1=

mainParse2=

mainParse3=

mainParse4=

miniRes2  =

miniTran1 =

miniTran2 =

miniTran3 =

miniTran4 =

miniParse1=

miniParse2=

miniParse3=

miniParse4=

*TRANSL IN*

*Original Input: Line #1*

The sky is blue.

*Pattern Matcher*

Pattern matcher has no rules

*Start Rules*

The sky is blue.

*Proper Name Recognition*

*Complete Lookup phase*

The sky is blue.

*Dictionary Match*

bos the sky is blue .

^   ^   ^   ^  ^    ^

INPUT: bos

DICT:  bos

INPUT: The

DICT:  the

INPUT: sky

DICT:  sky

INPUT: is

DICT:  is

INPUT: blue

DICT:  blue

INPUT: .

DICTIONARY LOOKUP FUNCTION:  Converts literal input words into SWORK RECORDS
*SWORK RECORDS*   SWORK = semantico-syntactic work (record)
 #  xx wc typ fr sbs sps patstm schg com smc             o2b o3b meaninID| wc typ fr sbs sps patstm schg com smc             o2b o3b meaninID| wc typ fr sbs sps patstm schg com smc             o2b o3b meaninID|
wc=word class; type=SAL set; fr=(morphological)form; sbs=SAL subset;sps=SAL superset 

       (SAL=semantico-syntactic abstraction language (the internal representation language))

patstm=the generic paradigmatic morphology table (PAT) that identifies stems and suffixes of all   

  inflectable words. NOTE: In the case of dictionary entries for already inflected forms (e.g., ‘is’)     

  this field is 0).

schg=subset change (refers to codes assigned  terms that have initial caps, all caps, bold facing, 

  etc.

smc=subject matter code, used to select between alternative entries for a given word, depending on     

  user specification at run time

o2b and o3b = fields for special characteristics of the entry that can be pertinent to subsequent   

  processes.

meaninID=pointer to location of target transfer.
NOTE:  Not shown are hash codes for openclass entries, used when proceses require dealing with literal words rather than with abstract SAL words. 

WHAT FOLLOWS ARE THE SWORK RECORDS THAT HAVE BEEN FORMED BY DICTIONARY LOOKUP FUNCTION.
 1  -1 20   1  1   0   1   0  0    0 LOG 001               0   0       0 |  0   0  0   0   0   0  0    0     001               0   0       0 |  0   0  0   0   0   0  0    0     001               0   0       0 |  1 bos = beginning of sentence
wc for ‘bos’ is 20 (used for all punctuation); Type=SAL superset=1(unique for BOS);form=1 (no significance)

NOTE: initially, there are no SAL set and subset codes for BOS (some are assigned later during analysis). 
NOTE: SAL superset codes range from 1 to 16, set codes from 17-99, subset codes from 100-998.  If there is no SAL set or subset code for a given word, as in the case of BOS, the superset code will occupy the type field (as in the case of BOS).
 2   2 14   1  3 101   1   0  0    0 LOG 001               0   0   86452 |  0   0  0   0   0   0  0    0     001               0   0       0 |  0   0  0   0   0   0  0    0     001               0   0       0 |  1 the
     wc for ‘the’ is 14; SAL superset is 1; form is 3; no SAL Set. SAL Subset is 101;    
NOTE:  the SAL superset occupies the type fields because there is no set code for this word.
This lack of strict consistency reflects the fact that SAL was developed inductively and very gradually over a period of many years, not always with the issue of strict consistency in mind.  Nevertheless SAL has proved to be of immense value to the process (as will be evident as we go along)

 3   3  1  29  1  29   9   0  0    0 LOG 001               0   0   80811 |  0   0  0   0   0   0  0    0     001               0   0       0 |  0   0  0   0   0   0  0    0     001               0   0       0 |  1 sky
wc for ‘sky’ is 1 (noun class); type is 29 (see SAL chart in Logos Archive Website for meaning); form=1 (for singular).  Note that as there is no subset code for this class of nouns, therefore the set code is repeated in the subset field. Some noun supersets have both sets and subsets, some only have sets.  
 4   4  2  60  3 886  11   0  0    0 LOG 001               0   0   52846 | 12  60  3 886   1   0  0    0 LOG 001               0   0   52845 |  0   0  0   0   0   0  0    0     001               0   0       0 |  1 is
wc for ‘is’ as a verb is 2 (verb class); type is 60; form is 3 (3rd per singular present tense); subset is 886; superset=11 (one of three intransitive classes)

NOTE: THERE ARE TWO PARTS OF SPEECH FOR ‘IS’. The system only allows for a maximum of three POS.  Words that have more than three POS have to be handled (disambiguated) during analysis.
wc for ‘is’ as an auxiliary is 12 (auxiliaries and modals); form=3; subset-886; superset-1 (differing from wc2) 

NOTE: For verbs, the subset code, in combination with the set code, uniquely identifies each verb, allowing rules to specify individual verbs by this subset-set combination.  Documentation exists (but is not presently available) specifying each verb and its set/subset combination.  This of course is recoverable from the DB.
 5   5  1  40 13 609   6   0  0    0 LOG 001               0   0   18142 |  2  21  1 546   7   0  0    0 LOG 001               0   0   18143 |  0   0  0   0   0   0  0    0     001               0   0       0 |  1 blue
wc=1 (for nouns and n/adj homographs); type-40; form-13 (this form signifies a noun that may also be an adjective. If the adjective ‘blue’ were unambiguous, the form would be 23)(wc would be 4 later changed to 1); subset=609; superset=6 (these are the SAL codes for ‘blue’ as a noun).

NOTE: Noun/adjective homographs like ‘blue” are resolved by TRAN rules (see TRAN2 below).  

NOTE: In some graphics of the system, a distinction is made between PARSE and TRAN rules, reflecting the redesign of a newer version of the System that was never completed. In this diagnostic, TRAN refers to Transformation Rule and pertains to both analysis and synthesis functions. (See below in TRAN1 for fuller discussion) 

wc=2 (for verb, i.e., verbal sense of ‘blue’); type = 21 (simple transitive);form=3 (as above for ‘is’); subset=546; superset-7 (transitive)

NOTE:  Superset 546 in combination with superset 7 uniquely identifies this verb, as explained above.
 6   6 20  10  1  10  10   0  0    0 LOG 001               0   1       0 |  0   0  0   0   0   0  0    0     001               0   0       0 |  0   0  0   0   0   0  0    0     001               0   0       0 |  0 .
wc=20 (punctuation); type=10 (EOS - end of sentence); form=1 (no meaning). The superset is repeated in the other SAL fields.
*SentenceUnits* all literal strings have hash codes that allow rules to specify the string. Except for verbs, very few open class words have unique codes and therefore analysis must rely upon hash codes to specify a word uniquely.  There are two different hash codes, the second one is called a hen number (after a man named Hennesey, a Logos programmer who designed the code). Hen hash codes give a hash value for an entire entry (incl phrases).  Regular hash codes only hash the head word.
   hash-1 hash-2 roothash-1 roothash-2 hen-1 hen-2 roothen-1 roothen-2 wct CQDUBI

 1      0      0          0          0    -1    -1         0         0   0       

 2      0      0          0          0  8302     5         0         0   1 I     

 3   8490      4       8490          4  8490     4         0         0   1       

 4      0      0          0          0  8030     0         0         0   1       

 5   1505   2001       1505       2001  1505  2001         0         0   1       

 6      0      0          0          0  9000     4         0         0   0       

*Sentence Summary*

   Case          = Lower Case

   Translatable  = Yes

   Bold          = No

   Italic        = No

   Underlined    = No

   Single Quoted = No

   Double Quoted = No

EOS*  (= end of sentence)
*RES   START*    RES=resolution.  There are two RES modules.  In English these modules effect a macro parse of the sentence, resolving syntactic homographs and identifying clause transitions, chiefly.

*SWORK RECORDS*   These records, below, are the SWORK records after dictionary look up which serve as input to RES1. *(This is the same as the SWORK array shown above)

NOTE:  Dictionary look-up, where possible, effects homograph resolution based on morphological clues. None took place in this case, however.) 
NOTE: As previously noted, SWORK 4 (’is’) and SWORK 5 (‘blue’) are syntactic homographs. It is the responsibility of the RES modules to resolve these homographs.

         xx  wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID|

  1 1__  -1  20   1  1   0   1   0   0    0 LOG    0   0        -1|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 bos             

  2 1__   2  14   1  3 101   1   0   0    0 LOG    0   0     86452|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 the             

  3 1__   3   1  29  1  29   9  18   1    0 LOG    0   0     80811|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 sky             

  4 11_   4   2  60  3 886  11  13   4    0 LOG    0   0     52846| 12  60  3 886   1  13   4    0 LOG    0   0     52845|  0   0  0   0   0   0   0    0        0   0         0|  1 is              

  5 11_   5   1  40 13 609   6  16   1    0 LOG    0   0     18142|  2  21  1 546   7 233   1    0 LOG    0   0     18143|  0   0  0   0   0   0   0    0        0   0         0|  1 blue            

  6 1__   6  20  10  1  10  10   0   0    0 LOG    0   1         0|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  0 .               

   WSTRNG             HENUM        root      HASHCOD      root

    bos                 -1   -1    0    0       0    0    0    0

    the               8302    5    0    0       0    0    0    0

    sky               8490    4    0    0    8490    4 8490    4

    is                8030    0    0    0       0    0    0    0

    blue              1505 2001    0    0    1505 2001 1505 2001

    .                 9000    4    0    0       0    0    0    0

WSTRNG=literal input word string
*RES1  START*

The two RES modules are quite complicated, far more so than the TRAN modules.  Their function is to resolve syntactic homographs and recognize clausal transitions (effecting a top-down, deterministic macroparse of the sentence). In effect, a single path is created through the multiple nodes of the SWORK array, if any multinoded (i.e. ambiguous)entries exist. (As stated earlier, an SWORK for a given term may have up to three parts of speech (i.e. only three nodes). RES modules eliminate all but one node for any multiple node SWORK, in effect creating a deterministic parse of the sentence.

RES1 is essentially just preparatory to RES2 where most of thee resolution and macroparse work is done.  I will keep commentary on the RES rules to a minimum chiefly because of their complexity but also partly because of documentationm inadequacies and memory lapses.

*SWORK RECORDS*

         xx  wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID|

  1 1__  -1  20   1  1   0   1   0   0    0 LOG    0   0        -1|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 bos             

  2 1__   2  14   1  3 101   1   0   0    0 LOG    0   0     86452|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 the             

  3 1__   3   1  29  1  29   9  18   1    0 LOG    0   0     80811|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 sky             

  4 11_   4   2  60  3 886  11  13   4  847 LOG    0   0     52846| 12  60  3 886   1  13   4    0 LOG    0   0     52845|  0   0  0   0   0   0   0    0        0   0         0|  1 is              

  5 11_   5   1  40 13 609   6  16   1    0 LOG    0   0     18142|  2  21  1 546   7 233   1    0 LOG    0   0     18143|  0   0  0   0   0   0   0    0        0   0         0|  1 blue            

  6 1__   6  20  10  1  10  10   0   0    0 LOG    0   1         0|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  0 .               

Let us begin with some observations about Logos rules in general, whether in RES or the TRANs.

Rules have three major components:

1- Comment line (a clea, telegraphic English statement of the source language pattern that the rule is dealing with, and some indication of the action talem.  The next to last things on the comment line are the initials of the linguist(s) and the date. The very last thing is the RES or TRAN module to which the rule belongs (not always present)
2- SP line (semantico-syntactic pattern). In effect, a string of SWORKS, up to ten maximum. 
a. The SWORK of course has three parts:  Word Class field, SAL Type field, and Form field. 
i. If the rule is to apply to more than one SAL type, Linguist can specify din the type field a so-called tag set of SAL codes in place of a single code (see d. below).  
b. One of the SWORKs can be a so-called stretch element, which functions like a Kleene Star, thus allowing an SP line to encompass many more than ten SWORKS of the input array. The linguist can indiciate that the stretch can only be over certain specified POS classes, expressed by various negative numbers in the wc field of the stretch element. 

i. WC fields that begin with, e.g., 55, indicate that this is a Stretch element.  
ii. An SP line can have up to three Stretch elements.
c. A minus 1 (-1) in the wc field of an SWORK element in the SP line stands for universal set (ie. any wc)  
d. A minus 2 (-2) in the type field of an SWORK element in the SP line indicates a tagset, which appears directly below the SP line. 

i. The tag set can be a set of SAL codes, or an instruction, or both.
ii. Tag sets can be attached to any and all of the SWORKs in the SP line.

e. A -1 in the form field of an SWORK element in the SP line stands for universal set (i.e. any value) 
i.  Note that the form field is used in a variety of ways to characterize the element. This is true both for inflectable elements where form has a real morphological purpose, and for uninflectable elements, where the form field has no morphological meaning but can be used to serve other purposes.

3- VTR (vector transform). This is the action part of the rule, appearing immediately below any tagset lines.
a. In RES, the VTR action pertains solely to source analyhsis.  
b. In the TRANs, VTR’s pertain to both source and target actions. 
c. Except where noted, VTR’s in both RES and TRANs contain such things as:

i. Relational pointers (primarily in VTR’s of TRAN ruales).  Relational pointers point to elements in the SP line. Relational points in the VTR are expressed as a negative number from -1 to -10.

ii. Switches, which are programmed operators or functions (subroutines). Switches are identified by a negative number ranging from -11 to -98 (not all numbers are used, in some cases because the original switch of that number has been discarded.)

1. Some switches pertain to source actions, others to target. 

2. All target action is performed exclusively by the-63 switch whicn points to a specific, so-called 30-table. This 30-table is unique to the particular TRAN rule. 

a. The 30-table effects the target actions relative to a given SP line of a given TRAN rule (i.e., the 30-table is essentially an exclusively target VTR within the main VTR). 
b. The 30-table can contain one or more -64 switchs which in turn invokes a 40-table. Where 30-tables are rule specific, 40—tables are shareable target functions. A given 40-table can be invoked by any number of 30-tables.  

3. In effect, then all the target actions in the VTR line of a rule are all contained in the 30 table. The 30-table will typically contain one of more -64 switches pointing to a 40-table. 
a. 40-tables themselves can contain -64 switches pointing to another (i.e. nested) 40-table. 

i. There is no limit to this nesting.

4. To summarize, the main VTR of a rule, if there is a target action to be performed, accomplishes that target action in a 30-table unique to that particular rule.

a. 30-tables are invoked by -63 switches 

b. The 30-table may invoke one or more of the shared, general purpose 40-tables, via a -64 switch.
c. The -63 and -64 switches and their associated 30- and 40-tables, and any other target-specific swsitches, will be explained in greater detail when we come to the TRANs, below. 

5. Switches themselves often contain relational pointers. Within a switch, relational pointers are expressed by negative numbers ranging from -81 to -90.

a. Reminder:  relational points in the VTR (outside of switches) are expressed by negative numbers from -1 to -10.

i. Relational pointers in VTR’s come with a single parameter. This will become apparent when we get into the TRANs.
iii. Slots (in TRAN VTR’s only). This will be explained when we deal with actual TRAN rules.

iv. VC’s (in TRAN VTR;s only). Ditto.
v. Constants. Constants are numbers pointing to literal target words in a special target dictionary or word list.

1. constants range from 121 to 998.  Any number in a VTR in this range, followinged by a single parameter, may be construed as a target constant.
d. 999 marks the end of a VTR.  

6300 RULE AT  1

Res1 rule #3775, ID: 3450

* new rule BOS EL (STRETCH 01 795 11) EP199                                     

32  (20 1 1)  (-1 -2 -1)  spec: 8

  { 6012   81  900 9000 6500   81 8000 8052    0    0    0    0    0    0    0    0    0    0    0    0    0 }

   -31  56 -41   2 999

   6500 TAGSET STARTING AT ELEMENT    2

1- Comment Line. The comment line always begins with an indication of the length of the SP line (i.e. how many SWORKs are involved).

a. In RES only, however, this initial number is used to prioritize rule application, ranging from 3 to null.  In above, the 32 signifies a highest level rule type, of length 2.  (I have no recollection what spec:8 signifies. A programmer’s notation, not a linguist’s.)
2- SP Line. The -1 in the wc field of the second element of the SP line means universal (any) wc.

a. The -2 in type field of the second element of the SP line points to the tagset immediately below.  Tagsets in RES beginning with 60nn invoke special functions. Type of function to be performed is indicated by the nn value of the 6000 operation. 9000 marks the end of this function. 
b. In the tagset above, 6012 instructs the system to exclude matches on certain SAL values:  The first parameter, 0081 (a relational pointer) specifies the element of the SP line to which this exclusion is to apply (i.e., the first element.  The values between the first parameter and 9000 specify the SAL codes that are to be excluded in the match. (In this cane only one, viz., 900).  
c. 6500 invokes an different function pertaining to tests for certain conditions that must cause this particular RES rule to fail (i.e. be skipped). There are scores of such conditions which will not be gone into here.  I have no documentation on the meaning of or function associated with parameters 8000 or 8052.
3- VTR line:  

a. -31 56:  Instructs system not to match this rule again in the present sentence

b. -41002:  Instructs system to backspace the number of slements specified by the parameter (parameter value of 2 in this case) when resuming match function after this rule has been executed.  The -41 switch is most important in both RES and TRANs as it allows the system to re-match on the same segment of the input SWORK array, the idea being that if the current rule has changed some SWORK in the SP line, the rematch will march on a different rule. Thjis is a very powerful means for the linguist to direct traffic so to speak (take control of rule matching to whatever extent zhe wishes) (
i. Note that the --31 56 switch above has a related effect without changing any SWORK value.)
MATCH AT  1

Res1 rule #3774, ID: 3342

BOS EL = -2 /SET SUBSET OF BOS=900 S389 ER1                                     

32  (20 1 1)  (-1 -2 -1)  spec: 7

  { 6012   81  900  909  385  186  185  186  188  189 9000    0    0    0    0    0    0    0    0    0    0 }

   -46 -81   0 900   0 -31  56 -41   2 999

-46 switch alters SWORK values (in RES this effect is temporary and does not affect SWORKs entering TRAN). Switch has four parameters. Fist param is a relational pointer. Params two through four specify SAL changes to wc, type, and form.  In the example, type is changed to 900.
NOTE;  WE WILL DEFER FURTHER COMMENT ON RES UNLESS REQUESTED OTHERWISE.  WE GO NOW TO THE TRANs
MATCH AT  2

Res1 rule #3057, ID: 2771

* DET N EL = -3 /TO AVOID PV SET IMP BS385 ERES1                                

13  (14 -1 -1)  (1 -1 -1)  (-1 -2 -1)  spec: 4

  { 6025   81 6014   82   12   14    6 9000 6012   82  851  849  848  900 9000    0    0    0    0    0    0 }

   -31  56 -13 -82 -41   3 999

-13  with its relational pointer locks the SWORK in RES such that no changes can be made to it.
MATCH AT  2

Res1 rule #2764, ID: 2497

* THE N(SING/PL) BS1184 ERES1                                                   

 2  (14 101 3)  (1 -2 57)  spec: 8

  { 6012   82  849  851  900 9000 6014   82   16 9000    0    0    0    0    0    0    0    0    0    0    0 }

   -13   1 999

MATCH AT  4

Res1 rule #699, ID: 590

IS/ARE N(ADJ) EP284 ERES1                                                       

 2  (2 60 -1)  (1 -1 13)  spec: 5

   -13   1 999

 POSSIBLE MATCH GOING TO RESSEM AT  4 RULE NO. 2334

Res1 rule #2334, ID: 2108

* +6 AUX V EP1084 ERES                                                          

22  (12 -1 -1)  (-9 -1 -1)  spec: 0

   -22 -81 -82   0   0   0 -46 -81   0 848   0 -13   1 999

*SEMWRK VALUES*

      12  60   3   4  12  60   3   4   2  21   1   5

 886   1  60 886   1  60 546   7  21

 NO MATCH IN RESSEM

*RES2 START*

*SWORK RECORDS*

         xx  wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID|

  1 1__  -1  20   1  1 900   1   0   0    0 LOG    0   0        -1|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 bos             

  2 1__   2  14   1  3 101   1   0   0    0 LOG    0   0     86452|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 the             

  3 1__   3   1  29  1  29   9  18   1    0 LOG    0   0     80811|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 sky             

  4 1__   4   2  60  3 886  11  13   4  847 LOG    0   0     52846| 12  60  3 886   1  13   4    0 LOG    0   0     52845|  0   0  0   0   0   0   0    0        0   0         0|  1 is              

  5 1__   5   1  40 13 609   6  16   1    0 LOG    0   0     18142|  2  21  1 546   7 233   1    0 LOG    0   0     18143|  0   0  0   0   0   0   0    0        0   0         0|  1 blue            

  6 1__   6  20  10  1  10  10   0   0    0 LOG    0   1         0|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  0 .               

 POSSIBLE MATCH GOING TO RESSEM AT  2 RULE NO. 8358

Res2 rule #8358, ID: 8177

+4 (XMV)(NUM=0) ART (U/PV2RT) N(SG) = -2 EP1085 OERES2                          

32  (14 -1 31)  (1 -2 44)  spec: 10

  { 6050  103 8021    4 8000 9000 6014   82    6 9000 6355   82 8000    0    0    0    0    0    0    0    0 }

   -22 -81 -82   0   0   0 -46 -81   0   0  10 -31  56 -41   2 999

*SEMWRK VALUES*

      14   1   3   2  14   1   3   2   1  29   1   3

 101   1   1 101   1   1  29   9  29

  *** RES22 MATCH   SEMRES is the RES version of SEMTAB (Semantic Table, extensive use of which is made in the TRANs)  SEMRES and SEMTAB are special purpose pattern dictionaries whose chief purpose is to support semantic disambiguation. Both these dictionaries are invoked by a -22 switch (see below in TRAN1 for discussion of switches.)  
Res22 rule #6367, ID: 6313

THE N(TERMINAL) JP584 ERES22                                                    

 3  (14 101 1)  (14 101 -1)  (1 -1 42)

   999

 6300 RULE AT  2

Res2 rule #8358, ID: 8177

+4 (XMV)(NUM=0) ART (U/PV2RT) N(SG) = -2 EP1085 OERES2                          

32  (14 -1 31)  (1 -2 44)  spec: 10

  { 6050  103 8021    4 8000 9000 6014   82    6 9000 6355   82 8000    0    0    0    0    0    0    0    0 }

   -22 -81 -82   0   0   0 -46 -81   0   0  10 -31  56 -41   2 999

   6355 TAGSET STARTING AT ELEMENT    4

   UV OR PV FOUND AT   4

MATCH AT  2

Res2 rule #8358, ID: 8177

+4 (XMV)(NUM=0) ART (U/PV2RT) N(SG) = -2 EP1085 OERES2                          

32  (14 -1 31)  (1 -2 44)  spec: 10

  { 6050  103 8021    4 8000 9000 6014   82    6 9000 6355   82 8000    0    0    0    0    0    0    0    0 }

   -22 -81 -82   0   0   0 -46 -81   0   0  10 -31  56 -41   2 999

CELL VALUES     1   1   1   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

 POSSIBLE MATCH GOING TO RESSEM AT  2 RULE NO. 7628

Res2 rule #7628, ID: 7463

DET(NOT WC18) N EL(NOT N) = -2 EP889 ER2                                        

 3  (14 -1 -1)  (1 -1 -1)  (-1 -2 -1)  spec: 4

  { 6014   83    1   16 9000 6014   81   18 9000    0    0    0    0    0    0    0    0    0    0    0    0 }

   -22 -81 -82   0   0   0 -41   2 999

*SEMWRK VALUES*

      14   1  10   2  14   1  10   2   1  29   1   3

 101   1   1 101   1   1  29   9  29

  *** RES22 MATCH

Res22 rule #6367, ID: 6313

THE N(TERMINAL) JP584 ERES22                                                    

 3  (14 101 1)  (14 101 -1)  (1 -1 42)

   999

MATCH AT  2

Res2 rule #7628, ID: 7463

DET(NOT WC18) N EL(NOT N) = -2 EP889 ER2                                        

 3  (14 -1 -1)  (1 -1 -1)  (-1 -2 -1)  spec: 4

  { 6014   83    1   16 9000 6014   81   18 9000    0    0    0    0    0    0    0    0    0    0    0    0 }

   -22 -81 -82   0   0   0 -41   2 999

CELL VALUES     1   1   1   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

MATCH AT  3

Res2 rule #214, ID: 209

(NUM=0) (XV) N(NOT WC14/ING) EL = -2 /SET NUM S285 OERES2                       

12  (1 -1 42)  (-1 -2 -1)  spec: 4

  { 6050 1004 8000 1103 8021 9000 6014   81   14 9000 6012   81   15 9000    0    0    0    0    0    0    0 }

   -18   4   0 -81   2 -42 -81   0   0   0   0 -31  56 -41   2 999

*SEMWRK VALUES*

       1  29   1   3   1  29   1   3

  29   9  29  29   9  29

 NO MATCH IN RESSEM

*SEMWRK VALUES*

       1  29   1   3   1  29   1   3

  29   9  29  29   9  29

 NO MATCH IN RESSEM

CELL VALUES     1   1   1   1   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   9  29  29   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

MATCH AT  3

Res2 rule #1726, ID: 1686

(XV)(NUM NOT = 0) N UV = -1 S786 OERES2                                         

22  (1 -1 72)  (-9 -2 41)  spec: 5

  { 6050   11 8000  103 8021  204 8000 9000  844  845  846  847  848    0    0    0    0    0    0    0    0 }

   -17 183 -81   1 -18   4   0 -81   2 -46 -82   3   0   0 999

CELL VALUES     1   1   1   1   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   9  29  29   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

MATCH AT  4

Res2 rule #3421, ID: 3321

VI ADJ PUNC = -2 S285 OERES2                                                    

23  (3 11 41)  (1 -1 47)  (-6 -2 -1)  spec: 8

  { 6014   82   14 9000  888   20    3   10    7    0    0    0    0    0    0    0    0    0    0    0    0 }

   -18   3   0 -81   1 -18   5   0 -81   1 -18   6   4 -81   1 -41   2 999

*SEMWRK VALUES*

       3  60   3   4   3  60   3   4

 886  11  60 886  11  60

 NO MATCH IN RESSEM

CELL VALUES     1   1  60   1   3   4   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0 886  11   9  29  29   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

MATCH AT  5

Res2 rule #213, ID: 208

(XADJ C6=SF29) PRE-ADJ EL(NOT N) = -1 /RESET C6=90 S1091                        

12  (1 -1 30)  (-1 -2 -1)  spec: 4

  { 6050 1106 8029 9000 6014   82    1 9000    0    0    0    0    0    0    0    0    0    0    0    0    0 }

   -18   6  90 -81   1 999

CELL VALUES     1   1  60   1   3  90   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0 886  11   9  29  29   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                0   0   0   0   0   0   0   0   0   0         0   0   0   0   0   0   0   0   0   0

                                    0   0   0   0   0   0   0   0   0   0

*RES END* 

*SWORK RECORDS*

         xx  wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID| wc typ fr sbs sps pat stm schg com o2b o3b meaningID|

  1 1__  -1  20   1  1   0   1   0   0    0 LOG    0   0        -1|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 bos             

  2 1__   2  14   1  3 101   1   0   0    0 LOG    0   0     86452|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 the             

  3 1__   3   1  29  1  29   9  18   1    0 LOG    0   0     80811|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  1 sky             

  4 1__   4   2  60  3 886  11  13   4  847 LOG    0   0     52846| 12  60  3 886   1  13   4    0 LOG    0   0     52845|  0   0  0   0   0   0   0    0        0   0         0|  1 is              

  5 1__   5   1  40 13 609   6  16   1    0 LOG    0   0     18142|  2  21  1 546   7 233   1    0 LOG    0   0     18143|  0   0  0   0   0   0   0    0        0   0         0|  1 blue            

  6 1__   6  20  10  1  10  10   0   0    0 LOG    0   1         0|  0   0  0   0   0   0   0    0        0   0         0|  0   0  0   0   0   0   0    0        0   0         0|  0 .               

      RESPAS   FOR ELEMENT # 

*RESOLVED SWORK RECORDS*

                                                           **** M A J O R  P A T H ***** -  *** M I N O R   P A T H *****

                                                           CL UV VB SJ VB VB CL N  PR DC - CL UV VB SJ VB VB CL N  PR SP

         wc typ fr sbs sps patstm schg com o2b o3b| A     T  F  F  X  B  X     S  -  A     T  F  F  X  B  X

  1 1__  20   1  1   0   1   0  0    0 LOG    0   0|  1  1  1  0  0  0  0  0  0  0 -  0  0  0  0  0  0  0  0  0  0  1 bos             

  2 1__  14   1  3 101   1   0  0    0 LOG    0   0|  1  1  1  0  0  0  0  0  0  0 -  0  0  0  0  0  0  0  0  0  0  1 the             

  3 1__   1  29  1  29   9  18  1    0 LOG    0   0|  1  1  1  1  0  0  0  0  0  0 -  0  0  0  0  0  0  0  0  0  0  1 sky             

  4 1__   2  60  3 886  11  13  4  847 LOG    0   0|  1  1 60  1  3  4  0  0  0  0 -  0  0  0  0  0  0  0  0  0  0  1 is              

  5 1__   1  40 13 609   6  16  1    0 LOG    0   0|  1  1 60  1  3 90  0  0  0  0 -  0  0  0  0  0  0  0  0  0  0  1 blue            

  6 1__  20  10  1  10  10   0  0    0 LOG    0   1|  1  1 60  1  3 90  0  0  0  0 -  0  0  0  0  0  0  0  0  0  0  0 .               

NOTE:  RES has resolved the syntactic (POS) ambiguity of ‘is’ to the main verb (wc2).  Also the ambiguities associated with ‘blue’ have been partially resolved:  blue is no longer seen as a verb. It remains ambiguous with respect to N/ADJ, signified by 13 in the form field of a wc1.

NOTE:  An important function of RES2 (not illustrated in this simple sentence) is to recognize transitions from the main clause and dependent clauses (MAJOR PATH) to minor clauses (MINOR PATH—which latter are chiefly, but not exclusively, relative clauses.  
NOTE: I do not recall at the moment the precise meaning of CL UV SJ VB etc. but I believe CL identifies the type of clause (1=main; 2-dependent) (don’t remember at the moment the codes for minor path clauses—perhaps they are always 1); UV=1 identifies verbs that are unambiguously such; VB identifies the SAL set code of the clause’s main predicate. (Notice that the verb set code (60) is carried over to all subsequent elements of the clause. This value also gets stored in the SCONs for these elements so that any element in a sentence can test for the clause it appears in, and whether the element occurs after a verb or not, and what the verb set type happens to be. These are sometimes useful data for both source analysis and target synthesis); SJ=1 indicates (I think) that the subject of the clause has occurred. (This would become clearer to me if I had hard copy diagnostics for longer sentences/ The second VB (VB=3)may pertainm to main verb morphology.  I reget I cannot be more helpful. But this particular main and minor path diagnostic displays the macro parse effected by the RES modules.
*SCON CELL ARRAY*
SCON ARRAYS (SCON=Syntacto-morphological control). Associated with each SWORK is a 100-cell SCON CELL ARRAY used to store information leaned about the term as analysis proceeds, e.g,, the SWORK’s complete SAL code, top-down parse information about the type of clause the SWSORK appears in, plus other data for both source and target purposes, some of it bult as analysis proceeds.(Documentation on individual cells and their values comprise an small volume and cannot be touched upon here.
 1    1   0   1   0   0   0   0   0   0   0   0   1   0   0   0   0   0   0   0   0

      0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0 

 2    1   0   1   0   0   0   0   0   0   0   0   1   0   0   0   0   0   0   0   0

      0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0 

 3    1   0   1   1   0   0   0   0   0   0   0   1   0   0   0   0   0   0   0   0

      0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0 

 4    1 847  60   1   3   4   0   0 886   0   0  23   0   0   0   0   0   0   0  12

      0   0   0   0   0   1  60   0   3   0   0   0   0   0   0   0   0   0   0   0 

 5    1   0  60   1   3  90   0   0 886   0   0   2   0   0   0   0   0   0   0   2

      0   0   0   0   0   7  21   0   1   0   0   0   0   0   0   0   0   0   0   0 

 6    1   0  60   1   3  90   0   0 886   0   0   1   0   0   0   0   0   0   0   0

      0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0   0 

*EOS*

*tran1   START*

    1  22 bos the sky is blue .                                                                                                                                                                                                                                                                                       

TARG_CODES: ID=  86452 lang=1 MorC=1 CC=LOG ofl2a=0 ofl2b=1 ofl3a=0 ofl3b=1 pat= 94 Gender=1 WC=14

TARG_CODES: ID=  80811 lang=1 MorC=1 CC=LOG ofl2a=0 ofl2b=1 ofl3a=0 ofl3b=1 pat= 52 Gender=1 WC= 1

TARG_CODES: ID=  52846 lang=1 MorC=1 CC=LOG ofl2a=0 ofl2b=1 ofl3a=0 ofl3b=2 pat=  1 Gender=3 WC= 2

TARG_CODES: ID=  18142 lang=1 MorC=1 CC=LOG ofl2a=0 ofl2b=3 ofl3a=0 ofl3b=1 pat= 83 Gender=3 WC= 1

*-SWORK RECORDS*                                                        PAT         STEM    LVL                   OFL3I OFL4I TYPSAV

  1   1 -1 -1  20   1  1   -1     0   0  0    0     0   0  0    0     0  0  0  0  0  0    1 BOS               0     1    0

  2   1 -1 -1  14 101  3    2     0   0  0    0     0   0  0    0     0  0  0  0  0  0    1 the               1     1    0

  3   1 -1 -1   1  29  1    3     0   0  0    0     0   0  0    0    18  0  0  1  0  0    1 sky               1     9   29

  4   1 -1 -1   2 886  3    4    12  60  3    4     0   0  0    0    13 13  0  4  4  0    1 is                2    11   60

  5   1 -1 -1   1 609 13    5     2  21  1    5     0   0  0    0    16233  0  1  1  0    1 blue              1     6   40

  6   1 -1 -1  20  10  1    6     0   0  0    0     0   0  0    0     0  0  0  0  0  0    0 EOS               0    10    0

*SWORK RECORDS*

         xx  wc typ fr sbs sps patstm com o2b o3b| wc typ fr sbs sps patstm com o2b o3b| wc typ fr sbs sps patstm com o2b o3b|

  1 1__  -1  20   1  1   0   1   0  0 LOG   0   0|  0   0  0   0   0   0  0       0   0|  0   0  0   0   0   0  0       0   0|  1 BOS             

  2 1__   2  14 101  3 101   1   0  0 LOG   0   0|  0   0  0   0   0   0  0       0   0|  0   0  0   0   0   0  0       0   0|  1 the             

  3 1__   3   1  29  1  29   9  18  1 LOG   0   0|  0   0  0   0   0   0  0       0   0|  0   0  0   0   0   0  0       0   0|  1 sky             

  4 1__   4   2 886  3 886  11  13  4 LOG   0   0| 12  60  3 886   1  13  4 LOG   0   0|  0   0  0   0   0   0  0       0   0|  1 is              

  5 1__   5   1 609 13 609   6  16  1 LOG   0   0|  2  21  1 546   7 233  1 LOG   0   0|  0   0  0   0   0   0  0       0   0|  1 blue            

  6 1__   6  20  10  1  10  10   0  0 LOG   0   1|  0   0  0   0   0   0  0       0   0|  0   0  0   0   0   0  0       0   0|  0 EOS             

*THE TRATAB* Not certain what this acronym stands for (perhaps Translation Table??), but it appears this all refers to target data.  02B I believe, to gender. Not sure of O3B. TGPN refers to target morphology table that pertains fo the particular term. (Incidental Note:  The O in the above acronyms should be a letter, not a number, and refers to “Overflow” There is a history behind these acronyms that need not be gone into now) (Overflow field values are available, I believe,  but need not be gone into here)
                          SWKAD    WC  O2A  O2B  O3A  O3B  TGPN  TG25     TARGET WORD 

  1  BOS                     -1     1    0    0    0    0     0     0        -unfound/number-

  2  the                  86452     1    0    1    0    1    94     1        der                                                                                                                                                                                                     


  3  sky                  80811     1    0    1    0    1    52     1        Himmel                                                                                                                                                                                                  


  4  is                   52846     1    0    1    0    2     1     3        sein                                                                                                                                                                                                    


  5  blue                 18142     1    0    3    0    1    83     3        Blau                                                                                                                                                                                                    


  6  EOS                      0     1    0    0    0    0     0     0        -unfound/number-                                                                                                                                                                                        


TRAN1
***** A MATCH STARTING AT   1 LEVEL   1       ON ELEMENT  1jj              tran1 

Tran rule #4161, ID: 4160

**809 BOS = -1 / T90,F02/CK FOR ? (ADD VC108 FOR ADV-S287) ST286 EGSP1          

 1  (20 1 1)

   -42  10 809   1   1 -20   0 108   0 -55  19 -81  62 -55  70   1   0 -55  99   1   0 -46 -81   0   900   2 -41   1 999    0   0

1. Comment Line:  this rule matches on a beginning of sentence rule, checks for interrogative, and backspaces.  

1. SP Line:  20 001 01 is unique SAL code for BOS


2. VTR:
1- -42 switch causes system to branch and continue matching on special nested WC 10 rules, looking to match on an WC10 rule whose sp line has its its first element 10 809 1. if match occurs at wc 10 rule, then vtr of that rule rather than that of the calling rule is executed 

i. apparently no rule match was made on any WC10 rule so system continues with match on VTR of current rule.
2- -20 000 Switch.  Supresses new SWORK formation by this TRAN rule

a.  (Note: The -20 swotch has a single parameter which can specify several highly specizlised functions but is used rather infrequently.)

b. IMPORTANT:  Unless a TRAN rules’s VTR has a -20 switch surpressing this action, each TRAN rule will automatically cause a new SWORK (sometimes referred to as NSWORK) to be formed, based on the wc/type/form values of the last SWORK of the SP line after taking backspacing into consideration (or as otherwise modified by a -46 switch).  
i. Of course, as stated, nny such SOWRK formation takes into account the actions of the -41 switch.
1. Thus an SP line with three SWORKS whose VTR has no -20 switch and which has a -41 001, i.e., backspaces one, will cause a new SWPRK to be formed based on the values of the second element in the SP line. 

a. A -46 switch however can modify any of the wc/type/form values 

ii. This new SWORK will be part of the SWORK output array of the current TRAN. which serves as input the the subsequent level of TRAN. 
3- 108 000   This is a VC (variavle constant) that is now added to the output address array (OPADR).  
a. Once a VC is loaded into the output address array, it can be addressed by switches for that purpose at any point, and can be loaded with elements, constants, or other VC’s.  Initially VC’s are empty when initially loaded into the OPADR.

4- -55 switch sets values into a clause-level cell array.  
a. -55 has three parameters. 
b. There are two variants to the -55 switch.  Unfortunately I do not have adequate documentation on the first variant of this switch.
i. 1st variant (cf first instance of -55, above).  
1. 1st parameter specifies a cell in the clause-level cell array that is to be affected by this action. 
2. 2nd param is a relational pointer, some value associated with which is to be placed in specified cell.  
3. 3rd param specifies source of that value. Unfortunately I not have up-to-=date documentation on the meaning of 62    

ii. 2ndst variant (cf second and third instances of -55, above).  
1. 1st param specifies a cell, as in first variant. 
2. 2nd param specifies the value to be placed in the cell.  
3. 3nd param is always null
5- -46 switch re-labels the SAL type field and the form field of the first element of the SP line.  It does not, in this case, affect the element’s wc field.   

6- -41 001. Backspacing switch. Parameter specifies number of SWORK elements to be backspaced when system resumes matching function (in this case a backspace of 1 SWORK of the SP line). As may be seen, -20 switches are frequently used in conjunction with the -41 switch, allowing for iterative processing of the same SWORK input segment. 
a. Note:  because of the backspace, the original SWORK is being matched on again, but now it has a different form field value and therefore will not match on the same TRAN rule but on a different rule.

REVIEW:  Number ranges in VTR’s are meaningful.  Here is an overview:

1. -1 to -10 (with one param) = relational pointers
2. -11 to -98  (with variable number of param’s) = switches
3. 70 to 98 (with one param) = slots
4. 101-120 = VC’s
5. 121-998 = target constants
DEFINITIONS:

1. SP = semantico-syntactic pattern

2. Tagsets = supplemental SP lines that allow for expanded specification of SAL types, and also other functions.

3. VTR = vector transform

4. Relational pointer (e.g., -1) = pointer to an SWORK in the SP line (-1 points to first SWORK)

5. Switches = the means by which both source and target actions are taken 

6. Slots = recepticals for receiving elements, switches, target constants, and VC’s.  Slots are loaded by switches and are unloaded when the slot appears in some subsequent VTR.  Slots have single parameters.
7. VC = Variable constant. VC’s are generally similar to slots and what is true of the loading and unloading of slots is also true of VCs.

8. Target Constants – numeric pointers to target string addresses.  Useful for introducing additional target strings not provided by original dictionary look up, or for replacing transfers so provided.

***** A MATCH STARTING AT   1 LEVEL   1       ON ELEMENT  1jj              tran1 

Tran rule #4075, ID: 4074

PUNC = PUNC ST1184 EGSP1                                                        

 1  (20 -1 -1)

    83   0  -1   0  84   0 999     0   0

1- Comment Line: The SWORK is matched and, by default action, a new SWORK is being formed with the same wc/type/form values of the old SWORK (done automatically as a by-product of the match, unless inhibited by the -20 switch or modified by the -46 switch).
2- SP line:  Here we have a match on a single wc 20 element of any type or form field (wc 20 stands for any sort of punctuation, including parens etc.)

3- VTR:  
a.  83 0 (0 is a satalite paramaeter).  In VTR’s, positive numbers from 70 to 99 followed by a single4 parameter are so-called slots into which relational pointers, constants, VC’s and switches may have previously been loaded by means of swsitches, and which now at this point get unloaded. Unloading means that any relational pointers that were placed in 83 will now cause the target address associated with the pointed-to SWORK to be loaded into the OPADR.  

i. Any target constants (numbers pointing to target strings) found in the slot are also loaded into the OPADR.  
ii. If a slot contains switches, such switches would also be executed at this point. 
iii. Thus it is possible to delay the execution of switches by this means. One advantage of this is that it allows delayed switch execution to benefit from any analysis that may have occurred subsequent to the moment when switch was loaded into the slot. Slots are positive numbers ranging from 71 to 98 (but I am not certain of this upper range).

iv. Slots and VC’s are the principal tool for effecting target word order. 

1. Slots are available for use in any way linguists see fit, in accordance with overall strategies.    
b. -1 0  This is a relational pointer (with its parameter), pointing in this case to the first element in the SP line. 

i. The appearance of a relational pointer in the VTR cause the target address of the pointed-to SWORK to be loaded into the OPADR. 
ii. Target addresses are loaded into the OPADR in the order in which they occur in the VTR.
iii. relational pointers have a single parameter. 
a. A positive number in this param from 101-998 identifies a target constant which is to replace the target string initially associated (in the dictionary) with the SWORK. 
i. This is one of the main mechanisms for overriding dictionary-level transfers of source words.  

b. In the current rule, above, the relational pointer’s parameter is 0 (null), meaning that the original dictionary target string associate with the SWORK is loaded into the OPADR (not the string itself, of course, but a pointer to it).

c. Note that target constants are addresses of (pointers to) literal target words stored in a separate target language constant dictionary.   
c. Slot 084 is now unloaded into the OPADR.  

i. The OPADR will now have target addresses of either the original dictionary-level transfer for the sosurce word, and/or a target language constant. Such target-language constants may be in addition to, or a replacement for, the target string originally provided for the SWORK (source word) in the main dictionary.

1. As stated, all target addresses will appear in the OPADR in the order in which they were loaded.

d. 999 signals end of VTR
***** A MATCH STARTING AT   2 LEVEL   1       ON ELEMENT  2jj              tran1 

Tran rule #3174, ID: 3173

DET = DET E1 ST282 MMT287                                                       

 1  (14 -1 -1)

   -20   0 -31  15

   -63   0 458   1 999     0   0
1- Comment Line:  Comment line here is misleading and should read DET = (DET)
i. The parens indicates that DET is not to receive its own new SWORK (because of the -20 switch)

ii. Tnis is part of the process by which NP is formed.

2- SP Line:  wc14=Determiner.  This rule pertains to any type of Determiner, whether definite or indefinite (e.g., the, a, his, this, no, etc.) 

3- VTR: 

i. -20 suppresses new SWORK formation

ii. -31 is a utility switch that performs the function specified in the single parameter. 

1. param setting 15 causes a definite article flag (ARTDEF) to be set to value of 1.

a. This ARTDEF setting will be tested later to determine whether to alter the form field of the head noun ‘sky’ to a 17, signifying a NP introduced with a definite article.
i. It is interesting that NP will be identified this way, given that the SP line does not test for a definite article SAL code.  I cannot say for sure but I believe the action taken here is a default action, taken because no other rule has been matched which would have prevented this action. The Logos system makes extensive use of default rules which infer a condition in the absence of anything else having happened to preclude the default action.

iii. -63 switch.  All target actions in the system are introduced by the -63 switch which points the system to a 30-table, here 30-table 0458.  

1. Each 30 table is linked to a particular TRAN rule

2. Three parameters of the -63 switch:  first two pertain to the 30-table number (e.g. 0458) Unfortunately I not recall purpose of the third param, or even if it has any. (I do not have an up-to-date switch manual at my disposal. However, if I am not mistaken, I believe OpenLogos provides an on-line switch manual.  (I do not have the OpenLogos system at my disposal either)
3. In the present case, the only function of 30-table 0458 is to call a 40-Table via the -64 switch. 

-Main 30 table #458

   -64   0 115   0 999

iv. -64 switch.  This switch calls a 40-table (0115). In other respects it is like a -63 switch. 

1. As stated previously, 40-tables are sharable and callable by any 30-table. Because of the efficiencies of this arrangement, most of the target work is done in 40-tables.

Main 40 table #115

   -56   1 199 299  42  74

   -57   1  83   0  73   0  71   0

   -57   2 -55  14   1   0 -55  31 -81   2 -55  33 -81  13

   -66 399  56 -81  60 140  60 -36  45 -81 -11  75 107 -81 -31  11

   -57   3 -31 -81

   -57   4 999

v. 40-table 0115: Note that both 30- and 40-tables are essentially target VTRs.  

1. Some of the switches in these tables are unique to target functions, others are common to both source and target work.  

2. -56 switch:  This switch tests a cell in the clausal cell array and effects a branch within the VTR depending on results of test (TRUE or FALSE). The number of parameters varies, as follows:

a. 1st param establishes the number of conditions to be tested, in this case only 1 (i.e. whether cell 42 has the value 74). 
i. Each test condition entails two parameters, one for the cell, one for the value.  

ii. In multiple test conditions, the test can be either OR or AND.  

1. OR is the default.  

2. AND is expressed by inserting 777 777 (signifying AND) between each of the cell/value test pairs.

b. 2nd param identifies three points in the VTR to which system will branch, as follows

i. 1st digit is branch point for FALSE (cell has the value being tested for)

ii. 2nd digit is the end point for processing when true

iii. 3rd digit is the re-enter point at which to continue processing

c. 3rd param identifes the three points in the VTR for FALSE match test. The three digits of this parameter have the same significance as for TRUE
d. the 9’s in the second and third parameters stand for the 999’s which end the VTR.

e. Branch points are nomrlally identified by switch -57. 

f. In the example, above, cell 42 is being tested for a value of 74. 

g. See the bold-=faced code below for what happens in the present 40-table:
3. -66 switch:  I do not have documenmtation on this switch but it is also a branching switch akin to a -56 switch where rather than testing a cell, an element’s SCON is being tested for the specified value.  Here, ANDing is expressed by 777 (rather than 777 777, as in -56sw)  
4. -36 switch:  utility switch. Do not have documentation on function 45 but believe it is related somehow to -31 switch where param is 15, which causes the ARTDEF cell to be set (turned on). Perhaps this switch sets a cell to the .

5. -11 switch:  This switch causes the slot in identifies in its one parameter (075) to be loaded with all that follows in the VTR.  
a. This slot and all that has been loaded into uit will get unloaded by a later rule (the rule for the head noun).

6. -31 switch is a utility switch (as seen earlier). 

a. I have no documentation on the function specified by param=11.    .

SEE AFTER NEXT TRAN RULE FOR A SUMMARY OF -56 AND -66 SWITCHES
 CELL 42  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SCON( 60,-81) =    0

 -66 056 CONDITION AT  32,                              CONTINUE TO THE RIGHT

 BEFORE- SLOTAD,SLOTA2,SLDUMP   5   0   0 SLOT

     0

 AFTER- SLOTAD,SLOTA2,SLDUMP   5   0   0 SLOT

   107-10381   999     1

***** A MATCH STARTING AT   3 LEVEL   2       ON ELEMENT  3jj              tran1 

Tran rule #549, ID: 548

N(91) NON-N = -2 / CK S3 STS586 EGSP1                                           

 2  (1 -1 91)  (-3 -1 -1)

   -20   0

   -63   1 352   3 -36  56   0 -41   2 999     0   0

1. Comment Line:  Match is on a noun plus a non-noun SWORK. Rule backspaces its entire length. 
2. SP line:  

a. the 91 in the form field of the 1st element is a superform that includes a small set of form values.  

i. I do not have documentation available on what values this particular superform covers, but can infer that it must refer to values that are singular. 

b. The -3 in the wc field of the 2nd element denotes a small set of wc’s that are to be excluded fronm the match. 

i. Here again, I do not have documentation about the exact nature of this set, except to infer that it excludes nouns, and any wc that relates to simple NP’s.  

3. VTR line:

a. -20 0 switch suspends automatic new SWORK formation

b. -63 switch:  This switch invokes 30-table # 1352 for target action

Main 30 table #1352

   -55   3 -81 351

   -56   3 399  56   3  18   3   8   3  38

   -66 299  56 -81  45   9 777 -81   2 789  60

   -66 299  56 -81  45   9 777 -81   2 123  60

   -66 123  56 -81   3   9  60

   -66 299 399 -81   3   6  60

   -57   1 -54   1 -81   3   1 -48  13   3 -81 -54   1 -81   5   2

   -57   2 -54   1 -81   3   1 -48  13   3 -81 -54   1 -81   5   1

   -57   3 999
i. -55 switch:  This switch tests cell 3 with (I believe) the original form field value of -81. (I believe this is the significance of 351)
ii. -56 switch:  This is the conditional branching switch discussed previously.  

1. In the current example above, there are three tests (indicated by the 3 in the 1st param)

a. All three tests check cell 3 for values of 18, 8, and 38.   

b. Diagostic below indicates cell 3 has value 1, so test is FALSE 

i. I don’t recall (and have no documentation) of what 56 means in the FALSE branch field.  It appears to mean to continue processing the VTR after the -56 switch.

iii. -66 switch:  This too is a conditional branching switch, discussed previously.

1. In the above example, scons 45 of the SWORK pointed to be -81 is tested for value 9 AND scon 2 vor value 789.  l believe the 60 makes the end of this particular -66 switch. 

a. Since the test result is FALSE (as we can see from the diag below), the negative branch 56 is taken, signifying to branch to the end of this switch and continue processing the VTR (i.e. after the 60)

2. The next -66 switch makes a similar test but in this case tests scon 2 for value 123.

a. Test result here is also false.  Branch is to point after switch (after 60)

3. The final -66 switch:  first param indicates branch points for TRUE, viz. 123, which means branch on TRUE to -57 1, exit at -57 2 and then resume at -57 3.

a. Test result however is FALSE, which means go to end of -66 switch and continue. This happens to be end of VTR (999), so VTR processing stops. 

b. System now attempts to match on a new TRAN1 rule.

iv. -54 switch (not executed):  This switch sets values into a scon cell.

1. 1st param indicates number of sconcell/value pairs

2. 2nd param points to the SWORIK whose scon is being set

3. 3rd param identifies the scon

4. 4th param specifies the value to be set

 CELL  3  =    1

 CELL  3  =    1

 CELL  3  =    1

 -56 056 CONDITION AT  13,                              CONTINUE TO THE RIGHT

 SCON( 45,-81) =    0

 -66 056 CONDITION AT  22,                              CONTINUE TO THE RIGHT

 SCON( 45,-81) =    0

 -66 056 CONDITION AT  33,                              CONTINUE TO THE RIGHT

 SCON(  3,-81) =    1

 -66 056 CONDITION AT  40,                              CONTINUE TO THE RIGHT

 SCON(  3,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99
REVIEW OF -56 AND -66 SWITCHES

1. -56 switch:  conditional testing of clause-level cells
a. first param specifies number of cells to be tested.

i. Testing is OR testing, unless test pairs are separated by 777 777, in which case AND
b. second param specifies branch points on TRUE: n1n2n3, where n1 is where TRUE processing begins, n2 is where it ends for this switch, and n3 is where VTR processing continues.
i. Branch points are indicated by -57.  E.g. if n1 has value of 2, then branch is to -57 2, etc.
c. third param specifies branch points on FALSE.
i. Branching is same as for b.
ii. If 56, however, signifies that branch is to end of -56 switch where VTR processing resumes.

d. Tests pairs are cell/value combinations, as many sets of these as specified by first param

2. -66 switch:  conditional testing of one or more scons of an SWORK

                i. Testing is OR, unless test pairs are separated by 777, in which case AND

a. end of -66 sw is indicated by 60

b. first param specifies branch points on TRUE, as in b. above

c. second param specifies branch points on FALSE, as in c. above

d. third param specifies SWORK whose scon is to be tested.

e. Test pairs are scon/value combinations, as many as appear before 60 (switch-end indicator)
***** A MATCH STARTING AT   3 LEVEL   1       ON ELEMENT  3jj              tran1 

Tran rule #1, ID: 0
NOTE  RULE BELOW IS A MOST IMPORTANT HEAD NOUN RULE WHERE ALMOST ALL SIMPLE NOUN PHRASES END AT, NO MATTER HOW MODIFIED.  FOR THAT REASON THE TARGET COMPONENT OF THE VTR IS ESPECIALLY COMPLEX.

**107 N = N / CK FOR F20,39,PN E1 ST985 MMT287                                  

 1  (1 -1 -1)

   -42  10 107   1   1

   -63   0 802   1 999     0   0

1. Comment line:  

a. **107 signifies that system will branch to set of nested rules, all beginning with wc10 in the first element of the SP line (this is merely an address, not a SAL value). 

i. In this case, branch is to 10 107 01

b. N = N signifies that match is on a N and this causes (=) new SWORK to be formed.

i. Certain checks are made for forms, 20, 39, and for PN (process nouns)

2. SP line  As stated above, this is the head noun rule for any simple NP.  The system matches on this rule by default (i.e. in the absence of any other rule pre-empting it (as, e.g., in the case of “blue”, below)).

3. VTR:

a. -42 switch:  this is the switch that causes branch to nested wc10 rules.

i. Second param specifies the wc10 address (addness not a SAL code value)

ii. Can’t recakk what 3rd and 4th param signify here (perhaps will become clearer as we proceed)

b. -63 switch:  this invokes target 30-table (#802) 

Main 30 table #802

   -55   5 -81 351  cell 5 is being set to the original form field value of -81 (believe this is right but not certain)
   -56   1 199 399   5  50  cell 5 is tested for value 50. Ressult is FALSE and branch is to -57 3
   -57   1 -46 -81  19   0   0  -57 1 (branch point) where -46 sw alters wc of -81, then process goes on to
   -22   1 -81   1  -1  57 -46 -81   1   0   0    -22 sw which sends -81 to SEMTAB (discussed later), then
   -56   1 299 399   2   1    new -56 sw which tests cell 2 for value 1
   -57   2 -46 -81   1   0  57   -57 2 (TRUE branch) executed -46 sw which alters wc and form of SWORK -81
   -57   3 -64   0 138   0 999   -57 3 (FALSE branch) Process now invokes -64 switch 
 CELL  5  =    1

 -56 SWITCH TEST: CONDITION FALSE
 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

Main 40 table #138

   -64   0  40   0 -64   0 139   0 -64   0  41   0 999    


c.  40-table 138 executes three -64 switches, which successively call 40-table 40, then 40-table 139, and finally 40-table 41.
Main 40 table #40

   -54   1  30  30 -81 -54   1  31  31 -81 -54   1  32  32 -81 -54   1  33  33 -81 -54   1  34  34 -81 -54   1  35  35 -81 -54   1  36  36 -81 -54   1  37  37 -81 -54   1  38  38 -81 -54   1  42  42 -81 -54   1  43  43 -81 999

d. -54 switch:  This -54 switch is quite different from the -54 switch desribed in a previous TRAN rule.
i.  I have no documentation on this variant but my recollection is that this variant -54 sw was designed as a means for placing cell values into scons so that branch switch -66 could test them (e.g., see -66 sw below which tests scon 31 for 0 etc.)  How cell 31 got loaded previously is unclear at this point (possibly this was an automatic program function, not sure)
1. The first param identifies the -54 function 

a. (don’t know if there are other functions for this -54 sw variant) 
2. the second param, in the first example above, tells the system to load cell 31 with the value found in scon 31 of SWORK -81, and so on with the subsequent -54 switches in this 40-table.
a. cell 31 contained the SAL subset code of the article “the”, which is now loaded into scon 31 of -81 (“sky’). 

i. See the effect of this in the scon readout at the end of TRAN1.
SWITCH REVIEW:  -54 1st parm=function; 2nd parm=cell; 3rd parm=scon 4th parm=SWORK pointed to whose scon is being 
   loaded.   
Main 40 table #139

   -64   0   7   0 -64   0  39   0 -64   0  45   0   -64 switches call 40-table 7 and then 40-tables 39 and 45
         After invoking these 40-tables (see below), 40-table 139 then proceeds with remainder of its code
   -66 940   6 -81  20  70 -81  20 171  60 -55   5 -81 351 -55   6 -81  11 -55   7 -81  13 -55   8 -81  14
         -66 sw tests scon 20 of -81 for value 70 OR 171.  On TRUE branch, not sure what 940 means, perhaps branch is 
to end of this 40-table. 
         Not sure what 6 means in FALSE branch, but it appears to be askin to 56, i.e., causes processing to proceed 
       to switches after the 60. -55 sw sets cell 5 to original form field value of -81 (I think)    

         The remaining series of -55 switches are setting cells (1st param) to values of specified scon (3rd param) of  

-81.  (Note: I have incomplete (not entirely up-to-date) documentation on assigned meanings of scon cells and their values, too extensive to reproduce here.)  
   -56   7 940  27   5  57 777 777   6  75 777 777   7  12 777 777   8   1   
-56 sw AND-tests cells 5,6.7,8,  Note that the 777 777 pairs are counted in the number of TEST pairs specified in 
the 1ast param (7). Not sure what the TRUE branch here (940) signifies. On FALSE, branch is to -57 2 and ends at -57 7.
   -66  56 199 -81  31   0 777 -81  32   0 777 -81  33   0 777 -81  35   0 777 -81  36   0  60

-66 sw:  continue to next switch at right on TRUE branch (i.e. after 60).  On FALSE, begin at -57 1, continue to 

9(99), end at 9(99)
   -66 127 199 -81   2 206 777 -81  13   5  60

-66 sw: branch to -57 1 on TRUE, end at -57 2, resume at -57 7.  On FALSE, branch to -57 1, continue to and end at 9(99) (i.e. end of this 40-table).       
   -57   1 102   0  75   0 107   0  83   0  73   0 103   0 105   0 108   0 106   0  71   0  77   0 101   0
-57 1:  The instructions following this branch point now begin to build the target NP.  VC 102 is loaded into the OPADR.  Slot 75 is emptied and any switches are executed, any relational pointers and any VC’s are loaded into OPADR, etc. etc.  All of the elements loaded into the OPADR here will stand in front (to the left of) the actual head noun of the target NP, which gets loaded at a subsequent branch point (-57 3, -57 4,  or  -57 5) 

   -57   2   Each of the following -56 switches AND-test cell values, cell 8 for 2 AND cell 45 for 57. A FALSE causes continued execution of the next switch to the right.  A TRUE result branches to various -57 branch points.  In effect, what is being tested is the nature of -81 as indicated by these clause-level cells.
   -56   3 348  56   8   2 777 777   5  57 -55   1 -81  20

   -56   3 678  56  19 864 777 777   1  79

   -56   3 458  56   5  57 777 777 408   0

   -56   3 348  56   5  50 777 777   8   0

   -56   3 348  56   5  57 777 777   8   0

   -66 568  56 -81   1  16 777 -81  20  79  60

-66 tests scon 1 OF -81 for 16 (viz., is -81 wc 16 (arithmate) AND does scon 20 have value 79
   -66 458  56 -81   1  16  60

   -66 678  56 -81  62 851 -81  62 848 -81  62 849 -81   2 848 -81  20 848  60

   -66 568 458 -81  20  79  60

   -57   3 -54   1 -81   8   2 -54   1 -81  13  15 -25   0  -1   2 117   0 -54   1 -81   7   0

   -57   4 -25   0  -1   0 -54   1 -81   7   0

   -57   5 575   0 864   0 865   0 -25   0  -1   0 -54   1 -81   7   0

   -57   6 -64   0  14   2 -81  -1

   -57   7 -64   0   3   0

   -57   8 104   0  74   0 112   0  79   0  96   0 110   0 -55  70   0   0 -54   1 -81  20   1 999

Main 40 table #7

   -66 124  56 -81  20 101 -81  20 171  60

   -66 234  56 -81  20 315  60

   -56   1  56 499  31 315

   -66 499  56 -81  12   9  60

   -66 499  56 -81  13  15 -81  13   7 -81  13   4  60 -55   5 -81 351

   -56   1 499  56   5  70

   -66 499  56 -81  46 101  60

   -66 499  56 -81   2 733  60

   -66 499  56 -81  13  15 -81  13  16  60

   -66 399 499 -81   3   7 -81   3   8 -81   3   9  60

   -57   1 -40   0 -11  75 107 131 -31  11 -54   1 -81  46 101

   -57   2 -40   0 -11  75 107 532 -31  11 -54   1 -81  46 315

   -57   3 -36  45   3 -31  16 -48  13   9 -81 -44 -96 107 140   0 -54   1 -81  46 140

   -57   4 999

NOTE: all values in the rules involve triplets (dating back to use of IBM cards to write these rules).  Thus, value 56 is written as 056. The diagmostic program sometimes expresses expresses it one way (56), sometimes another (056). The significance is the same.  E.g. relational pointers in VTRs were written (by linguists) as -01.  The diag prog normally displays this as -1.
 SCON( 20,-81) =    0

 SCON( 20,-81) =    0

 -66 056 CONDITION AT   7,                              CONTINUE TO THE RIGHT
 SCON( 20,-81) =    0

 -66 056 CONDITION AT  14,                              CONTINUE TO THE RIGHT

 CELL 31  =  101

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

Main 40 table #39

   -56   3 199  56  37 140 777 777  31 101
   -56   3  56 399  30 140 777 777  31 101

   -57   1

   -66 235  56 -81   3   4 -81   3   5 -81   3   6  60

   -66 399  56 -81   3   7 -81   3   8 -81   3   9  60 -55   5 -81 351

   -56   1 399  56   5  10

   -56   1 235 399 505  71

   -57   2 -36  45   1 -44 -96 107 131   0 -44 -96 107 457 -97

   -57   3

   -56   1 499 599  31 338

   -57   4 -16 -81   2 -81   0 -81

   -57   5 999

 CELL 37  =    0

 CELL 31  =  101

 -56 056 CONDITION AT   9,                              CONTINUE TO THE RIGHT

 CELL 30  =    0

 CELL 31  =  101

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 CELL 31  =  101

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

Main 40 table #45

   -66  56 299 -81  57  29 -81  57 308 -81  57 129 -81  57 307 -81  57 166 777 -81  13   9  60

   -66 199 299 -81  62 864  60

   -57   1 -11  71 878   0 -31  11

   -57   2 999

 SCON( 57,-81) =   18

 SCON( 57,-81) =   18

 SCON( 57,-81) =   18

 SCON( 57,-81) =   18

 SCON( 57,-81) =   18

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SCON( 20,-81) =    0

 SCON( 20,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 CELL  5  =    1

 CELL  6  =   29

 CELL  7  =    9

 CELL  8  =    0

 -56 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 31,-81) =  101

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 CELL  8  =    0

 CELL  5  =    1

 -56 056 CONDITION AT 127,                              CONTINUE TO THE RIGHT

 CELL 19  =    0

 CELL  1  =    0

 -56 056 CONDITION AT 141,                              CONTINUE TO THE RIGHT

 CELL  5  =    1

 CELL  8  =    0

 -56 056 CONDITION AT 151,                              CONTINUE TO THE RIGHT

 CELL  5  =    1

 CELL  8  =    0

 -56 056 CONDITION AT 161,                              CONTINUE TO THE RIGHT

 CELL  5  =    1

 CELL  8  =    0

 -56 056 CONDITION AT 171,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 -66 056 CONDITION AT 180,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 -66 056 CONDITION AT 187,                              CONTINUE TO THE RIGHT

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 SCON(  2,-81) =   29

 SCON( 20,-81) =    0

 -66 056 CONDITION AT 206,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57  5  JUMP -57  8

Main 40 table #41

   -55  14   0   0 -55  15   0   0 -55  30   0   0 -55  31   0   0 -55  32   0   0 -55  33   0   0 -55  34   0   0 -55  35   0   0 -55  36   0   0 -55  37   0   0 -55  38   0   0 -55  42   0   0 -55  43   0   0 -55  30   0   0 999

***** A MATCH STARTING AT   4 LEVEL   1       ON ELEMENT  4jj              tran1 

Tran rule #1119, ID: 1118

**156 V = V E1 ST286 BES1287 T798                                               

 1  (2 -1 -1)

   -42  10 156   1   1 -55  11 -81  11 -55  13 -81  13 -55  48 -81   2

   -66 123 299 -81  31 460 -81    31 461  60

   -57   1 -55  22  17   0

   -57   2 -55  22   0   0

   -57   3

   -63   1  53   1 999     0   0

 SCON( 31,-81) =    0

 SCON( 31,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

Main 30 table #1053

   -54   4 -81  17   1  18   1  19   1  20   1 -55   5 -81 351

   -56   1 299 129   5  71

   -57   1 113   0  83   0 118   0 111   0 115   0  90   0 120   0 114   0 116   0 -31  21 -21   0  -1   0  76   0 109   0 117   0 110   0

   -57   2 113   0  83   0 118   0 111   0 115   0  90   0 120   0 114   0 116   0 -31  21 -38   0  -1   0  76   0 109   0 117   0 110   0 999

 CELL  5  =    3

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57  2  JUMP -57 99

***** A MATCH STARTING AT   5 LEVEL   2       ON ELEMENT  5jj              tran1 

Tran rule #549, ID: 548

N(91) NON-N = -2 / CK S3 STS586 EGSP1                                           

 2  (1 -1 91)  (-3 -1 -1)

   -20   0

   -63   1 352   3 -36  56   0 -41   2 999     0   0

Main 30 table #1352

   -55   3 -81 351

   -56   3 399  56   3  18   3   8   3  38

   -66 299  56 -81  45   9 777 -81   2 789  60

   -66 299  56 -81  45   9 777 -81   2 123  60

   -66 123  56 -81   3   9  60

   -66 299 399 -81   3   6  60

   -57   1 -54   1 -81   3   1 -48  13   3 -81 -54   1 -81   5   2

   -57   2 -54   1 -81   3   1 -48  13   3 -81 -54   1 -81   5   1

   -57   3 999

 CELL  3  =   13

 CELL  3  =   13

 CELL  3  =   13

 -56 056 CONDITION AT  13,                              CONTINUE TO THE RIGHT

 SCON( 45,-81) =    0

 -66 056 CONDITION AT  22,                              CONTINUE TO THE RIGHT

 SCON( 45,-81) =    0

 -66 056 CONDITION AT  33,                              CONTINUE TO THE RIGHT

 SCON(  3,-81) =    3

 -66 056 CONDITION AT  40,                              CONTINUE TO THE RIGHT

 SCON(  3,-81) =    3

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

***** A MATCH STARTING AT   5 LEVEL   1       ON ELEMENT  5jj              tran1 

Tran rule #1, ID: 0

**107 N = N / CK FOR F20,39,PN E1 ST985 MMT287                                  

 1  (1 -1 -1)

   -42  10 107   1   1

   -63   0 802   1 999     0   0

Main 30 table #802

   -55   5 -81 351

   -56   1 199 399   5  50

   -57   1 -46 -81  19   0   0

   -22   1 -81   1  -1  57 -46 -81   1   0   0

   -56   1 299 399   2   1

   -57   2 -46 -81   1   0  57

   -57   3 -64   0 138   0 999

 CELL  5  =   13

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

Main 40 table #138

   -64   0  40   0 -64   0 139   0 -64   0  41   0 999

Main 40 table #40

   -54   1  30  30 -81 -54   1  31  31 -81 -54   1  32  32 -81 -54   1  33  33 -81 -54   1  34  34 -81 -54   1  35  35 -81 -54   1  36  36 -81 -54   1  37  37 -81 -54   1  38  38 -81 -54   1  42  42 -81 -54   1  43  43 -81 999

Main 40 table #139

   -64   0   7   0 -64   0  39   0 -64   0  45   0

   -66 940   6 -81  20  70 -81  20 171  60 -55   5 -81 351 -55   6 -81  11 -55   7 -81  13 -55   8 -81  14

   -56   7 940  27   5  57 777 777   6  75 777 777   7  12 777 777   8   1

   -66  56 199 -81  31   0 777 -81  32   0 777 -81  33   0 777 -81  35   0 777 -81  36   0  60

   -66 127 199 -81   2 206 777 -81  13   5  60

   -57   1 102   0  75   0 107   0  83   0  73   0 103   0 105   0 108   0 106   0  71   0  77   0 101   0

   -57   2

   -56   3 348  56   8   2 777 777   5  57 -55   1 -81  20

   -56   3 678  56  19 864 777 777   1  79

   -56   3 458  56   5  57 777 777 408   0

   -56   3 348  56   5  50 777 777   8   0

   -56   3 348  56   5  57 777 777   8   0

   -66 568  56 -81   1  16 777 -81  20  79  60

   -66 458  56 -81   1  16  60

   -66 678  56 -81  62 851 -81  62 848 -81  62 849 -81   2 848 -81  20 848  60

   -66 568 458 -81  20  79  60

   -57   3 -54   1 -81   8   2 -54   1 -81  13  15 -25   0  -1   2 117   0 -54   1 -81   7   0

   -57   4 -25   0  -1   0 -54   1 -81   7   0

   -57   5 575   0 864   0 865   0 -25   0  -1   0 -54   1 -81   7   0

   -57   6 -64   0  14   2 -81  -1

   -57   7 -64   0   3   0

   -57   8 104   0  74   0 112   0  79   0  96   0 110   0 -55  70   0   0 -54   1 -81  20   1 999

Main 40 table #7

   -66 124  56 -81  20 101 -81  20 171  60

   -66 234  56 -81  20 315  60

   -56   1  56 499  31 315

   -66 499  56 -81  12   9  60

   -66 499  56 -81  13  15 -81  13   7 -81  13   4  60 -55   5 -81 351

   -56   1 499  56   5  70

   -66 499  56 -81  46 101  60

   -66 499  56 -81   2 733  60

   -66 499  56 -81  13  15 -81  13  16  60

   -66 399 499 -81   3   7 -81   3   8 -81   3   9  60

   -57   1 -40   0 -11  75 107 131 -31  11 -54   1 -81  46 101

   -57   2 -40   0 -11  75 107 532 -31  11 -54   1 -81  46 315

   -57   3 -36  45   3 -31  16 -48  13   9 -81 -44 -96 107 140   0 -54   1 -81  46 140

   -57   4 999

 SCON( 20,-81) =    0

 SCON( 20,-81) =    0

 -66 056 CONDITION AT   7,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    0

 -66 056 CONDITION AT  14,                              CONTINUE TO THE RIGHT

 CELL 31  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

Main 40 table #39

   -56   3 199  56  37 140 777 777  31 101

   -56   3  56 399  30 140 777 777  31 101

   -57   1

   -66 235  56 -81   3   4 -81   3   5 -81   3   6  60

   -66 399  56 -81   3   7 -81   3   8 -81   3   9  60 -55   5 -81 351

   -56   1 399  56   5  10

   -56   1 235 399 505  71

   -57   2 -36  45   1 -44 -96 107 131   0 -44 -96 107 457 -97

   -57   3

   -56   1 499 599  31 338

   -57   4 -16 -81   2 -81   0 -81

   -57   5 999

 CELL 37  =    0

 CELL 31  =    0

 -56 056 CONDITION AT   9,                              CONTINUE TO THE RIGHT

 CELL 30  =    0

 CELL 31  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 CELL 31  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

Main 40 table #45

   -66  56 299 -81  57  29 -81  57 308 -81  57 129 -81  57 307 -81  57 166 777 -81  13   9  60

   -66 199 299 -81  62 864  60

   -57   1 -11  71 878   0 -31  11

   -57   2 999

 SCON( 57,-81) =   16

 SCON( 57,-81) =   16

 SCON( 57,-81) =   16

 SCON( 57,-81) =   16

 SCON( 57,-81) =   16

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SCON( 20,-81) =    0

 SCON( 20,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 CELL  5  =   13

 CELL  6  =   40

 CELL  7  =    6

 CELL  8  =    0

 -56 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 31,-81) =    0

 SCON( 32,-81) =    0

 SCON( 33,-81) =    0

 SCON( 35,-81) =    0

 SCON( 36,-81) =    0

 -66 056 CONDITION AT  76,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =  609

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 CELL  8  =    0

 CELL  5  =   13

 -56 056 CONDITION AT 127,                              CONTINUE TO THE RIGHT

 CELL 19  =    0

 CELL  1  =    0

 -56 056 CONDITION AT 141,                              CONTINUE TO THE RIGHT

 CELL  5  =   13

 CELL  8  =    0

 -56 056 CONDITION AT 151,                              CONTINUE TO THE RIGHT

 CELL  5  =   13

 CELL  8  =    0

 -56 056 CONDITION AT 161,                              CONTINUE TO THE RIGHT

 CELL  5  =   13

 CELL  8  =    0

 -56 056 CONDITION AT 171,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 -66 056 CONDITION AT 180,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 -66 056 CONDITION AT 187,                              CONTINUE TO THE RIGHT

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 SCON(  2,-81) =  609

 SCON( 20,-81) =    0

 -66 056 CONDITION AT 206,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57  5  JUMP -57  8

Main 40 table #41

   -55  14   0   0 -55  15   0   0 -55  30   0   0 -55  31   0   0 -55  32   0   0 -55  33   0   0 -55  34   0   0 -55  35   0   0 -55  36   0   0 -55  37   0   0 -55  38   0   0 -55  42   0   0 -55  43   0   0 -55  30   0   0 999

***** A MATCH STARTING AT   6 LEVEL   1       ON ELEMENT  6jj              tran1 

Tran rule #4190, ID: 4189

EOS = EOS /ADDED 091 SEPT/99 PTGTRG STS                                         

 1  (20 10 1)

    83   0  84   0  91   0  -1   0 -55  64   0   0 -55  66   0   0 999     0   0

 -----------     tran1  PROCESSING COMPLETE      ----------

 THE SCON FOR tran1 
1. Each SWORK has a SCON. SCONs supplement the information about each element. Every element in the output address array for the target (OPADR) will have a SCON  
2. The SCON array immediately below shows current SCON settings after TRAN1 processing.  Note that the SCON ARRAY has 100 cells.  
3. Note that SCON 5 for ‘blue’ contains the SAL codes for the main verb of the clause (‘is’). This information in SCON 5 indicates that the term ‘blue’ appears after the main verb, a fact sometimes needed for analysis. 
a. Beginning with SCON 27 you will see a series of SCON arrays with numbers like 108 and 102 etc., appearing in the first cell. These particular SCONS and Numbers relate to something called “variable constants” or VC’s. VC’se created during analysis, chiefly but not exclusively in TRAN1. VC’s are extremely critical to both the target synthesis function, and will be explained in TRAN commentary, below.
              1    2    3    4    5    6    7    8    9   10   11   12   13   14   15   16   17   18   19   20

       1     20    1    0    0    0    0    0    0    0    1    0    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       2     14  101    1    1    0    3    1    0    0    2    0    1    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0   94    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       3      1   29    1    1    0    3    1    0    0    3   29    1    9    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0  101    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   18    0   52    0

              1    0    1    1    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       4      2  886    1    0    0    3    0    0    0    4   60    2   11    0    0    0    1    1    1    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   13    0    1    0

              1  847   60    1    3    4    0    0  886    0    0   23    0    0    0    0    0    0    0   12

              0    0    0    0    0    1   60    0    3    0    0    0    0    0    0    0    0    0    0    0

       5      1  609    9    3    0    3    1    0    0    5   40    1    6    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   16    0   83    0

              1    0   60    1    3   90    0    0  886    0    0    2    0    0    0    0    0    0    0    2

              0    0    0    0    0    7   21    0    1    0    0    0    0    0    0    0    0    0    0    0

       6     20   10    0    0    0    0    0    0    0    6    0    0   10    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              1    0   60    1    3   90    0    0  886    0    0    1    0    0    0    0    0    0    0    0

       7      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       8      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       9      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      10      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      11      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      12      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      13      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      14      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      15      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      16      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      17      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      18      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      19      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      20      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      21      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      22      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      23      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      24      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      25      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      26      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      27    108    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      28    102    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      29    107    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      30    103    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      31    105    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      32    108    0    1    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      33    106    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      34    101    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      35    104    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      36    112    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      37    110    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      38    113    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      39    118    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      40    111    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      41    115    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      42    120    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      43    114    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      44    116    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      45    109    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      46    117    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      47    110    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      48    102    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      49    107    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      50    103    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      51    105    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      52    108    0    9    3    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      53    106    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      54    101    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      55    104    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      56    112    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      57    110    0    9    3    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

             ***** OUTPUT TARGET ARRAYS IN tran1  *****

 ( 1) SWORKO =    20   900     2     1   BOS                  1     2 

      OPADRO    -108    -1

      SCONPO      27     1

      HFDOPO       0     0

 ( 2) SWORKO =     1    29    17     3   sky                  3    14 

      OPADRO    -102  -107  -107  -103  -105  -108  -106  -101     3  -104  -112  -110

      SCONPO      28     2    29    30    31    32    33    34     3    35    36    37

      HFDOPO       0     2     0     0     0     0     0     0     0     0     0     0

 ( 3) SWORKO =     2   886     3     4   is                  15    25 

      OPADRO    -113  -118  -111  -115  -120  -114  -116     4  -109  -117  -110

      SCONPO      38    39    40    41    42    43    44     4    45    46    47

      HFDOPO       0     0     0     0     0     0     0     0     0     0     0

 ( 4) SWORKO =     1   609    13     5   blue                26    36 

      OPADRO    -102  -107  -103  -105  -108  -106  -101     5  -104  -112  -110

      SCONPO      48    49    50    51    52    53    54     5    55    56    57

      HFDOPO       0     0     0     0     0     0     0     0     0     0     0

 ( 5) SWORKO =    20    10     1     6   EOS                 37    37 

      OPADRO       6

      SCONPO       6

      HFDOPO       0

*EOS*

*tran2   START*

    1  22 bos the sky is blue .                                                                                                                                                                                                                                                                                       

               ***** THE SWORK TABLE IN tran2  *****

  20  900   2  1          1   29  17  3          2  886   3  4          1  609  13  5         20   10   1  6       

    BOS                    sky                    is                     blue                   EOS                

CLSNFO ARRAYS - NUMBER OF CLAUSES IDENTIFIED   (INCLUDING MAIN CLAUSE) = 1

                NUMBER OF CLAUSES MOVED        (EXCLUDING MAIN CLAUSE) = 0

                NUMBER OF CLAUSES STILL TO BE MOVED                    =  0

              BEGIN  ENDING BEGIN  ENDING

       CLAUSE INPUT  INPUT  OUTPUT OUTPUT PARENT CLMRKR ANTCDN ANTCDN ANTCDN ANTCDN RELPRO

         ID   SWORK  SWORK  SWORK  SWORK  CLAUSE SCONS  SWORK  SCONPT OPIBEG OPIEND SCON  

           1      1      5      1      0      0      0      0      0      0      0      0  

       CLAUSE  PARENT   

         ID    CELLS    ( TRAILING ZEROES ARE NOT PRINTED )

CURRENT CLAUSE ID =  1

CLSCON ARRAYS   (CLSID IS INITIALIZED TO 1. ENTRY NOT PRINTED IF CLSID=1 AND BOTH CMCHLD AND ACHILD = 0

***** A MATCH STARTING AT   1 LEVEL   3         ON ELEMENT  1jj           tran2 

Tran rule #2226, ID: 2225

BOS .1S. V(95) = -A*0 / FORM FIELD IN C15 STS586 EGSP2                          

 3  (20 900 -1)  (51 -1 -1)  (2 -1 95)

   -20   0

   -63   1 376   1 -36  56   0 -41 100 999   10326 18499

 STR1CHG:     0        STR2CHG:     0        STR3CHG:     0

Main 30 table #1376

   -55  15 -83 351 999

 SW55 - LOADED CELL: 15 WITH VALUE:     3, VBRELP =  3

***** A MATCH STARTING AT   1 LEVEL   1         ON ELEMENT  1jj           tran2 

Tran rule #2221, ID: 2220

BOS = -1 / SET C11=1 ST585 EGSP2                                                

 1  (20 900 -1)

   -20   0 -55  11   1   0 -36  56   0 -41   1 999     0 3822

 SW55 - LOADED CELL: 11 WITH VALUE:   1

***** A MATCH STARTING AT   1 LEVEL   1         ON ELEMENT  1jj           tran2 

Tran rule #1983, ID: 1982

PUNC = PUNC E2 GS1181                                                           

 1  (20 -1 -1)

   -63   0 447   1 999   32767 3504

Main 30 table #447

   -66  56 199 -81   2 942  60

   -56   3  56 199  31  22 777 777  28 791 -36 184 -81

   -57   1

   -66 299 234 -81   2 877  60

   -57   2  73   0  -1   0

   -57   3  72   0  91   0  81   0  85   0  83   0  88   0  89   0  96   0  84   0  86   0  90   0  87   0  92   0  82   0  97   0  98   0  93   0

   -57   4

   -66 699 599 -81  20 909 -81  20 719 -81  20 436  60

   -57   5 -54   1 -81  20   0

   -57   6 999

 SCON(  2,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  21

 SCON(  2,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57  3  JUMP -57  4

 SW57 - VTR BREAK POINT, K3:  30

 SW57 - VTR BREAK POINT, K3:  36

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:   72

 SW57 - VTR BREAK POINT, K3:  72

 SCON( 20,-81) =    0

 SCON( 20,-81) =    0

 SCON( 20,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  87

 SW57 - VTR BREAK POINT, K3:  94

***** A MATCH STARTING AT   2 LEVEL   1         ON ELEMENT  3jj           tran2 

Tran rule #1, ID: 0

**237 N = N / CK FOR CONNOM PREP-OBJ,GEN; IF SC40=15 CHAIN(S287);ST584 EGSP2    

 1  (1 -1 -1)

   -42  10 237   1   1

   -66 199 299 -81  40  15  60

   -57   1 -20   0

   -57   2

   -63   0   2   1 999     0   0

 SCON( 40,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  17

Main 30 table #2

   -64   0 133   1 -81

   -66 940 126 -81   2 103 777 -81  59  94  60

   -66 128  56 -81  18  84  60

   -66 348  56 -81  46  13  60 -55   3 -81 351

   -56   1 799  56   3 175

   -56   1  56 599   3  65

   -66 238  56 -81  20  79  60

   -56   1  56 348   3  90

   -66 458 348 -81  36   0 777 -81  31   0  60

   -57   1 -38   1  -1   0 -13 -81

   -57   2  83   0 575   0 864   0 -38 -99  -1   0 -13 -81  89   0

   -57   3  83   0 -38 -99  -1   0 -13 -81  89   0

   -57   4  83   0 -25   5  -1   0 -13 -81  89   0

   -57   5

   -66 678 799 -81  20  79  60

   -57   6  83   0 575   0 864   0 -25   0  -1   0  89   0

   -57   7  83   0 -25   0  -1   0  89   0

   -57   8 999

Main 40 table #133

   -66 123  56 -81  28 800 777 -81  57  29 777 -81  13   1  60

   -66 299 399 -81  31 338  60

   -57   1 -16   3 -81   3 -81 -81

   -57   2 -54   1 -81   5   2

   -57   3

   -66 499 599 -81 235   0  60

   -57   4 -64   0  35   1 -81

   -57   5

   -66 699 799 -81 231   0 777 -81  46 140  60

   -57   6 -54   1 -81   3   9 -16 -81 -81 -81   0 -81

   -57   7 999

 SCON( 28,-81) =    0

 -66 056 CONDITION AT  12,                              CONTINUE TO THE RIGHT

 SCON( 31,-81) =  101

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  38

 SCON( 35,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  54

 SCON( 31,-81) =  101

 SCON( 46,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  7   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  80

 SCON(  2,-81) =   29

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 18,-81) =    0

 -66 056 CONDITION AT  20,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 -66 056 CONDITION AT  27,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  3 WITH VALUE:    17, VBRELP =  2

 CELL  3  =   17

 -56 056 CONDITION AT  39,                              CONTINUE TO THE RIGHT

 CELL  3  =   17

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 119

 SCON( 20,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  7   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 142

 SW57 - VTR BREAK POINT, K3: 152

***** A MATCH STARTING AT   3 LEVEL   3         ON ELEMENT  4jj           tran2 

Tran rule #944, ID: 943

V(INTRANS) .5S. N(ADJ) = -A*0/ADJ=F90/ALTWC ST585 EGSP2                         

 3  (2 11 -1)  (55 -1 -1)  (1 -1 13)

   -20   0 -46 -83   0   0  90

   -63   0 948   1 -36  56   0 -41 100 999    14   1

 STR1CHG:    -1        STR2CHG:     0        STR3CHG:     0

Main 30 table #948

   -33 -83 999

***** A MATCH STARTING AT   3 LEVEL   2         ON ELEMENT  4jj           tran2 

Tran rule #930, ID: 929

V(INTRANS) PREDADJ = V -1 ST1084 EGSP2                                          

 2  (2 11 -1)  (1 -1 90)

   -63   0 504   1 -41   1 999   8261 20308

Main 30 table #504

   -55  11 -81  11  85   0

   -66 199 299 -81  10   0  60

   -57   1 111   0 115   0 120   0 114   0 116   0 109   0 117   0 110   0

   -57   2  -1   0

   -57   3 999

 SW55 - LOADED CELL: 11 WITH VALUE:    60, VBRELP =  3

 SCON( 10,-81) =    4

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  32

 SW57 - VTR BREAK POINT, K3:  36

***** A MATCH STARTING AT   4 LEVEL   1         ON ELEMENT  5jj           tran2 

Tran rule #1, ID: 0

**237 N = N / CK FOR CONNOM PREP-OBJ,GEN; IF SC40=15 CHAIN(S287);ST584 EGSP2    

 1  (1 -1 -1)

   -42  10 237   1   1

   -66 199 299 -81  40  15  60

   -57   1 -20   0

   -57   2

   -63   0   2   1 999     0   0

***** A MATCH STARTING AT   4 LEVEL   2         ON ELEMENT  5jj           tran2 

Tran rule #1605, ID: 1604

01 ***237 N(PRED ADJ) = (ADJ) / E2 CMG1/92                                      

 2  (10 237 1)  (1 -2 90)

  { 6081    8 8002    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0 }

   -63   4 233   1 999   -46

Main 30 table #4233

   -55   5 -81 352

   -56   1 123 299   5  13

   -57   1  83   0  -1   0  89   0

   -57   2  83   0 -38   0  -1   0  89   0

   -57   3 999

 SW55 - LOADED CELL:  5 WITH VALUE:    13, VBRELP =  4

 CELL  5  =   13

 -56 SWITCH TEST: CONDITION TRUE AT   9

 BRANCH TO -57  1   EXECUTE UNTIL -57  2  JUMP -57  3

 SW57 - VTR BREAK POINT, K3:  11

 SW57 - VTR BREAK POINT, K3:  19

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:   29

 SW57 - VTR BREAK POINT, K3:  29

***** A MATCH STARTING AT   5 LEVEL   1         ON ELEMENT  6jj           tran2 

Tran rule #2070, ID: 2069

EOS=EOS /BACKSTOP FOR REL SLOTS L143 KB1085 EGSP2                               

 1  (20 10 -1)

   -63   1 243   1 999   7031 8680

Main 30 table #1243

   -66 123 299 -81   2 877  60

   -57   1  85   0  83   0  88   0  89   0  96   0  84   0  86   0  90   0  87   0  92   0  82   0  97   0  98   0  93   0

   -57   2  95   0  91   0  94   0  81   0  85   0  83   0  88   0  89   0  96   0  84   0  86   0  90   0  87   0  92   0  82   0  97   0  98   0  93   0

   -57   3  -1   0 999

 SCON(  2,-81) =   10

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  38

 SW57 - VTR BREAK POINT, K3:  76

 -----------     tran2  PROCESSING COMPLETE      ----------

 THE SCON FOR tran2 

              1    2    3    4    5    6    7    8    9   10   11   12   13   14   15   16   17   18   19   20

       1     20    1    0    0    0    0    0    0    0    1    0    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       2     14  101    1    1    0    3    1    0    0    2    0    1    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0   94    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       3      1   29    1    1    0    3    1    0    0    3   29    1    9    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0  101    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   18    0   52    0

              1    0    1    1    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       4      2  886    1    0    0    3    0    0    0    4   60    2   11    0    0    0    1    1    1    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   13    0    1    0

              1  847   60    1    3    4    0    0  886    0    0   23    0    0    0    0    0    0    0   12

              0    0    0    0    0    1   60    0    3    0    0    0    0    0    0    0    0    0    0    0

       5      1  609    9    3    0    3    1    2    0    5   40    1    6    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   16    0   83    0

              1    0   60    1    3   90    0    0  886    0    0    2    0    0    0    0    0    0    0    2

              0    0    0    0    0    7   21    0    1    0    0    0    0    0    0    0    0    0    0    0

       6     20   10    0    0    0    0    0    0    0    6    0    0   10    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              1    0   60    1    3   90    0    0  886    0    0    1    0    0    0    0    0    0    0    0

       7      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       8      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       9      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      10      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      11      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      12      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      13      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      14      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      15      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      16      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      17      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      18      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      19      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      20      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      21      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      22      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      23      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      24      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      25      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      26      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      27    108    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      28    102    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      29    107    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      30    103    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      31    105    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      32    108    0    1    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      33    106    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      34    101    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      35    104    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      36    112    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      37    110    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      38    113    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      39    118    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      40    111    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      41    115    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      42    120    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      43    114    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      44    116    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      45    109    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      46    117    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      47    110    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      48    102    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      49    107    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      50    103    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      51    105    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      52    108    0    9    3    0    3    0    2    0    0    0    0    0    0    0    0    0    0    0    0

      53    106    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      54    101    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      55    104    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      56    112    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      57    110    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

               ***** THE SWORKO TABLE IN tran2  *****

  20  900   2  1          1   29  17  3          2  886   3  4          1  609  90  5         20   10   1  6       

    BOS                    sky                    is                     blue                   EOS                

CLSNFO ARRAYS - NUMBER OF CLAUSES IDENTIFIED   (INCLUDING MAIN CLAUSE) = 1

                NUMBER OF CLAUSES MOVED        (EXCLUDING MAIN CLAUSE) = 0

                NUMBER OF CLAUSES STILL TO BE MOVED                    =  0

              BEGIN  ENDING BEGIN  ENDING

       CLAUSE INPUT  INPUT  OUTPUT OUTPUT PARENT CLMRKR ANTCDN ANTCDN ANTCDN ANTCDN RELPRO

         ID   SWORK  SWORK  SWORK  SWORK  CLAUSE SCONS  SWORK  SCONPT OPIBEG OPIEND SCON  

           1      1      5      1      5      0      0      0      0      0      0      0  

       CLAUSE  PARENT   

         ID    CELLS    ( TRAILING ZEROES ARE NOT PRINTED )

CURRENT CLAUSE ID =  1

CLSCON ARRAYS   (CLSID IS INITIALIZED TO 1. ENTRY NOT PRINTED IF CLSID=1 AND BOTH CMCHLD AND ACHILD = 0

             ***** OUTPUT TARGET ARRAYS IN tran2  *****

 ( 1) SWORKO =    20   900     2     1   BOS                  1     2 

      OPADRO    -108    -1

      SCONPO      27     1

      HFDOPO       0     0

 ( 2) SWORKO =     1    29    17     3   sky                  3    14 

      OPADRO    -102  -107  -107  -103  -105  -108  -106  -101     3  -104  -112  -110

      SCONPO      28     2    29    30    31    32    33    34     3    35    36    37

      HFDOPO       0     2     0     0     0     0     0     0     0     0     0     0

 ( 3) SWORKO =     2   886     3     4   is                  15    25 

      OPADRO    -113  -118  -111  -115  -120  -114  -116     4  -109  -117  -110

      SCONPO      38    39    40    41    42    43    44     4    45    46    47

      HFDOPO       0     0     0     0     0     0     0     0     0     0     0

 ( 4) SWORKO =     1   609    90     5   blue                26    36 

      OPADRO    -102  -107  -103  -105  -108  -106  -101     5  -104  -112  -110

      SCONPO      48    49    50    51    52    53    54     5    55    56    57

      HFDOPO       0     0     0     0     0     0     0     0     0     0     0

 ( 5) SWORKO =    20    10     1     6   EOS                 37    37 

      OPADRO       6

      SCONPO       6

      HFDOPO       0

*EOS*

*tran3   START*

    1  22 bos the sky is blue .                                                                                                                                                                                                                                                                                       

               ***** THE SWORK TABLE IN tran3  *****

  20  900   2  1          1   29  17  3          2  886   3  4          1  609  90  5         20   10   1  6       

    BOS                    sky                    is                     blue                   EOS                

CLSNFO ARRAYS - NUMBER OF CLAUSES IDENTIFIED   (INCLUDING MAIN CLAUSE) = 1

                NUMBER OF CLAUSES MOVED        (EXCLUDING MAIN CLAUSE) = 0

                NUMBER OF CLAUSES STILL TO BE MOVED                    =  0

              BEGIN  ENDING BEGIN  ENDING

       CLAUSE INPUT  INPUT  OUTPUT OUTPUT PARENT CLMRKR ANTCDN ANTCDN ANTCDN ANTCDN RELPRO

         ID   SWORK  SWORK  SWORK  SWORK  CLAUSE SCONS  SWORK  SCONPT OPIBEG OPIEND SCON  

           1      1      5      1      0      0      0      0      0      0      0      0  

       CLAUSE  PARENT   

         ID    CELLS    ( TRAILING ZEROES ARE NOT PRINTED )

CURRENT CLAUSE ID =  1

CLSCON ARRAYS   (CLSID IS INITIALIZED TO 1. ENTRY NOT PRINTED IF CLSID=1 AND BOTH CMCHLD AND ACHILD = 0

***** A MATCH STARTING AT   1 LEVEL   2    ON ELEMENT  1jj            tran3 

Tran rule #1208, ID: 1207

BOS N = BOS -1 / N=WC07 E3 STS884 ESM1189                                       

 2  (20 1 -1)  (1 -1 -1)

   -42  10 106   1   2

   -63   0 228   1 -24 -81 -20   0 -26 -82   1 -82 -82 -36  33 -82 -46 -82   7     0   0 -41   1 999   -31 888

Main 30 table #228

   -66 124  56 -81  10   1 777 -82  20 122 777 -82   2 175  60

   -66 235 499 -81   2 390 777 -82  20 390 777 -81  46  13  60

   -57   1 -54   1 -82  10   2

   -57   2 -38 -99  -1   0 -13 -81

   -57   3 -54   1 -81  46 140  -1 489 -16   2   0   0   0 -81 122   0 309   0 -13 -81

   -57   4  -1   0

   -57   5 -55   5 -81 350

   -56   1  56 799   5 900

   -66  56 799 -82   2 175 777 -82  13   0  60

   -66 699  56 -82  20  35 777 -82  19   0  60

   -66 699 799 -82  19 102 -82  19 104 -82  19  37  60

   -57   6 -54   1 -82  46 122 -54   1 -82  47 122

   -57   7 999

 SCON( 10,-81) =    1

 SCON( 20,-82) =    1

 -66 056 CONDITION AT  12,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  67

 SW57 - VTR BREAK POINT, K3:  71

 SW55 - LOADED CELL:  5 WITH VALUE:   900, VBRELP =  1

 CELL  5  =  900

 -56 056 CONDITION AT  81,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   29

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  7   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 130

           tran3  OPADRO      0  -108    -1

          SWORKO   1      0  0  0  0 20900  2  1

          SWORKO   2     20900  2  1

***** A MATCH STARTING AT   2 LEVEL   1    ON ELEMENT  3jj            tran3 

Tran rule #674, ID: 673

N (94) = -1/CK C30=1/DEL 136 IF POS                                             

 1  (7 -1 94)

   -20   0

   -63   0 496   1 -36  56   0 -41   1 999   308 -18578

Main 30 table #496

   -66 199 299 -81  46 293 777 -81 220 140  60

   -57   1 -36 293 -81

   -57   2

   -66 399 499 -81   2 865  60

   -57   3 -54   1 -81   5   2

   -57   4 999

 SCON( 46,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  17

 SCON(  2,-81) =   29

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  33

***** A MATCH STARTING AT   2 LEVEL   3    ON ELEMENT  3jj            tran3 

Tran rule #564, ID: 563

N(B4V) V(COP) N = -3/CK N BEFORE LOAD E3 CMG6/90                                

 3  (7 -1 -1)  (2 886 -1)  (1 -1 -1)

   -20   0

   -63   3 469   1 -36  56   0 -41   3 999   -81  17

Main 30 table #3469

   -66 123  56 -81   2 123 777 -81  12   9 777 -83 213   5  60

   -66  56 399 -81   2 303 777 -81 213   4 777 -81 213   7  60

   -66 299 399 -83   2 420 -83   2 433  60

   -57   1 -54   1 -81  46   9

   -57   2 -54   1 -81  46   3 -54   1 -81   4   3

   -57   3

   -66  56 499 -81  46 293  60 -54   1 -82  46 293

   -57   4 999

 SCON(  2,-81) =   29

 -66 056 CONDITION AT  12,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   29

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  60

 SCON( 46,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  74

***** A MATCH STARTING AT   2 LEVEL   2    ON ELEMENT  3jj            tran3 

Tran rule #554, ID: 553

N(B4V) V = N -1 / CK N BEFORE LOAD E3 CMG11/89 STS884 BMO890                    

 2  (7 -1 -1)  (-9 -1 -1)

   -63   1 929   1 -34   1 -81 -81 -81 -41   1 999     0   0

Main 30 table #1929

   -66 348  56 -81  20  35 777 -81   2 123 777 -81   1 -16  60

   -66 126  56 -81   2 144 777 -81  11  53 777 -81  31   0 777 -82   2 886  60

   -66 348  56 -81  46 293 777 -81  20 140  60

   -66 236  56 -81  33  46 777 -81  46  13  60

   -66 236  56 -81  46  13  60 -67  55   5  20   3 -55   3 -81  46

   -56   3 348  56   5 309 777 777   3 293

   -66 599  56 -81  46 293  60

   -66  56 346 -81   2 123 777 -81  11  21 777 -81 240  15  60

   -66 456 346 -81  31   0 777 -81 246   9 777 -81 209  23  60

   -57   1 -54   1 -81  46 101 -54   1 -81   8   1 297   0  -1   0 -13 -81

   -57   2 -38 -99  -1   0 -13 -81

   -57   3  -1   0

   -57   4 -54   1 -81  13   5 -36 488 -81  -1 488

   -57   5 -36 293 -81  -1   0

   -57   6

   -66  56 899 -81   2 303 777 -81 213   4 777 -81 213   7  60

   -56   6  56 899  16 392  16 103  16 440  16 122  16 866  17   1 -67  55   4  97   1 -67  55   5  98   1

   -56   3 799 899 404   0 777 777 405   0

   -57   7 -54   1   4   4 -81 -54   1 -81  98 303

   -57   8 999

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  12,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   29

 -66 056 CONDITION AT  31,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 -66 056 CONDITION AT  42,                              CONTINUE TO THE RIGHT

 SCON( 33,-81) =    1

 -66 056 CONDITION AT  53,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 -66 056 CONDITION AT  60,                              CONTINUE TO THE RIGHT

SW67 055:, SETTING CELL   5 EQUAL TO    0   FOR FUNCTION   3

 SW55 - LOADED CELL:  3 WITH VALUE:     0, VBRELP =  2

 CELL  5  =    0

 CELL  3  =    0

 -56 056 CONDITION AT  81,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 -66 056 CONDITION AT  86,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   29

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57  4  JUMP -57  6

 SW57 - VTR BREAK POINT, K3: 146

 SW57 - VTR BREAK POINT, K3: 150

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:  169

 SW57 - VTR BREAK POINT, K3: 169

 SCON(  2,-81) =   29

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  8   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 234

           tran3  OPADRO   -102  -107  -107  -103  -105  -108  -106  -101     3  -104  -112  -110

          SWORKO   2      7 29 17  3

          SWORKO   2      1 29 17  3

***** A MATCH STARTING AT   3 LEVEL   3    ON ELEMENT  4jj            tran3 

Tran rule #13, ID: 12

*28 V .S. PUNC = -A*0(SICÜ) / SMTB STS586 EGSP3                                 

 3  (2 -1 -1)  (52 -1 -1)  (20 -1 -1)

   -20   0

   -22   4 -81   1  -1   0 -99  91  -2   0  -3   0 -46 -81  17   0   0 -41 100 999   23696 2092

 STR1CHG:     0        STR2CHG:     0        STR3CHG:     0

      ***SEMWRK VALUES

          2  886   60    0           2  886    3    4           1   29   91    3           1  609   90    5          20   10    1    6       

          SEMTAB MATCHING PARAMETERS HAVE BEEN LOADED AS FOLLOWS:

          LOGUSR =   1 USRUSR =   2EXTENDED SEARCH =   1 LUDIFF =   1

          EL1LVL =   1 CMPEL1 =   2 CMPELX =   2

          company codes [ 1] LOG   

          SEMTAB: NO MATCH FOUND

  SEMWRKS =   1  2  0  0  0  0  0  0  0  0  0  0  0  0  0  0  0  0  0  0

  1  3  2  4  5  0  0  0  0  0  0  0  0  0  0  0  0  0  0  0

  3  5  3  1  0  0  0

          SWORKO   3      7 29 17  3

***** A MATCH STARTING AT   3 LEVEL   2    ON ELEMENT  4jj            tran3 

Tran rule #1068, ID: 1067

**438 V(AFT SMTB) N = V -1/CK FOR PN E3 ST585 MMT987                            

 2  (17 -1 -1)  (1 -1 -1)

   -42  10 438   1   1  85   0  -1   0 -34   2 -81 -81 -81

   -63   2 118   3 -46 -82   5   0   0 -41     1 999   888 888

Main 30 table #2118

   -66 124  56 -81  19  93 -81  19  94  60

   -66 234  56 -81  19  35  60

   -66 399 499 -82  51  92 -82  51  93 -82  51  94  60

   -57   1 -54   1 -81  20  35 -67  54   1   2  19  35

   -57   2 -67  54   1   2  19  35

   -57   3 -54   1 -82  46  53

   -57   4 999

 SCON( 19,-81) =    1

 SCON( 19,-81) =    1

 -66 056 CONDITION AT   7,                              CONTINUE TO THE RIGHT

 SCON( 19,-81) =    1

 -66 056 CONDITION AT  14,                              CONTINUE TO THE RIGHT

 SCON( 51,-82) =    0

 SCON( 51,-82) =    0

 SCON( 51,-82) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  59

           tran3  OPADRO   -113  -118  -111  -115  -120  -114  -116     4  -109  -117  -110

          SWORKO   3      2886  3  4

***** A MATCH STARTING AT   4 LEVEL   1    ON ELEMENT  5jj            tran3 

Tran rule #185, ID: 184

**101 N(AFTV) = N / CK FOR -ING ST1085 EGSP3 PS0787                             

 1  (5 -1 -1)

   -42  10 101   1   1

   -63   2 472   1 -34   1 -81 -81 -81 999   -66 126

Main 30 table #2472

   -66 299  56 -81   2 175 777 -81 213   4 777 -81 213   7  60

   -66 125  56 -81  46  13  60 -55   3 -81 351

   -56   1 125 299 503  85

   -57   1  73   0 -38 -99  -1   0 -13 -81

   -57   2

   -66 345  56 -81   1  19 777 -81   2 893 777 -81  62 850  60

   -66 345 499 -81   1  19 777 -81   2 895 777 -81  62 850  60

   -57   3 297   0  -1   0

   -57   4  73   0  -1   0

   -57   5 999

 SCON(  2,-81) =  609

 -66 056 CONDITION AT  12,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 -66 056 CONDITION AT  19,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  3 WITH VALUE:    90, VBRELP =  4

 CELL  3  =   90

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  43

 SCON(  1,-81) =    1

 -66 056 CONDITION AT  56,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  81

 SW57 - VTR BREAK POINT, K3:  87

           tran3  OPADRO   -102  -107  -103  -105  -108  -106  -101     5  -104  -112  -110

          SWORKO   4      5609 90  5

          SWORKO   4      1609 90  5

***** A MATCH STARTING AT   5 LEVEL   1    ON ELEMENT  6jj            tran3 

Tran rule #1289, ID: 1288

EOS = EOS S1079 BMO1090                                                         

 1  (20 10 -1)

   -63   0 294   1 -55  30   0   0 999   1018   0

Main 30 table #294

   -55  16   0   0 -55  17   0   0  -1   0 999

 SW55 - LOADED CELL: 16 WITH VALUE:   0

 SW55 - LOADED CELL: 17 WITH VALUE:   0

           tran3  OPADRO      6

          SWORKO   5     20 10  1  6

 SW55 - LOADED CELL: 30 WITH VALUE:   0

 THE SCON FOR tran3 

              1    2    3    4    5    6    7    8    9   10   11   12   13   14   15   16   17   18   19   20

       1     20    1    0    0    0    0    0    0    0    1    0    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       2     14  101    1    1    0    3    1    0    0    2    0    1    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0   94    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       3      1   29    1    1    0    3    1    0    0    3   29    1    9    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0  101    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   18    0   52    0

              1    0    1    1    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       4      2  886    1    0    0    3    0    0    0    4   60    2   11    0    0    0    1    1    1    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   13    0    1    0

              1  847   60    1    3    4    0    0  886    0    0   23    0    0    0    0    0    0    0   12

              0    0    0    0    0    1   60    0    3    0    0    0    0    0    0    0    0    0    0    0

       5      1  609    9    3    0    3    1    2    0    5   40    1    6    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   16    0   83    0

              1    0   60    1    3   90    0    0  886    0    0    2    0    0    0    0    0    0    0    2

              0    0    0    0    0    7   21    0    1    0    0    0    0    0    0    0    0    0    0    0

       6     20   10    0    0    0    0    0    0    0    6    0    0   10    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              1    0   60    1    3   90    0    0  886    0    0    1    0    0    0    0    0    0    0    0

       7      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       8      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       9      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      10      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      11      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      12      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      13      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      14      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      15      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      16      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      17      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      18      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      19      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      20      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      21      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      22      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      23      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      24      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      25      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      26      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      27    108    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      28    102    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      29    107    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      30    103    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      31    105    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      32    108    0    1    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      33    106    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      34    101    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      35    104    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      36    112    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      37    110    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      38    113    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      39    118    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      40    111    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      41    115    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      42    120    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      43    114    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      44    116    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      45    109    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      46    117    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      47    110    0    0    0    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      48    102    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      49    107    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      50    103    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      51    105    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      52    108    0    9    3    0    3    0    2    0    0    0    0    0    0    0    0    0    0    0    0

      53    106    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      54    101    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      55    104    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      56    112    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

      57    110    0    9    3    0    3    1    2    0    0    0    0    0    0    0    0    0    0    0    0

CLSNFO ARRAYS - NUMBER OF CLAUSES IDENTIFIED   (INCLUDING MAIN CLAUSE) = 1

                NUMBER OF CLAUSES MOVED        (EXCLUDING MAIN CLAUSE) = 0

                NUMBER OF CLAUSES STILL TO BE MOVED                    =  0

              BEGIN  ENDING BEGIN  ENDING

       CLAUSE INPUT  INPUT  OUTPUT OUTPUT PARENT CLMRKR ANTCDN ANTCDN ANTCDN ANTCDN RELPRO

         ID   SWORK  SWORK  SWORK  SWORK  CLAUSE SCONS  SWORK  SCONPT OPIBEG OPIEND SCON  

           1      1      5      1      5      0      0      0      0      0      0      0  

       CLAUSE  PARENT   

         ID    CELLS    ( TRAILING ZEROES ARE NOT PRINTED )

CURRENT CLAUSE ID =  1

CLSCON ARRAYS   (CLSID IS INITIALIZED TO 1. ENTRY NOT PRINTED IF CLSID=1 AND BOTH CMCHLD AND ACHILD = 0

               ***** THE SWORKO TABLE IN tran3  *****

  20  900   2  1          1   29  17  3          2  886   3  4          1  609  90  5         20   10   1  6       

    BOS                    sky                    is                     blue                   EOS                

             ***** OUTPUT TARGET ARRAYS IN tran3  *****

 ( 1) SWORKO =    20   900     2     1   BOS                  1     2 

      OPADRO    -108    -1

      SCONPO      27     1

      HFDOPO       0     0

 ( 2) SWORKO =     1    29    17     3   sky                  3    14 

      OPADRO    -102  -107  -107  -103  -105  -108  -106  -101     3  -104  -112  -110

      SCONPO      28     2    29    30    31    32    33    34     3    35    36    37

      HFDOPO       0     2     0     0     0     0     0     0     0     0     0     0

 ( 3) SWORKO =     2   886     3     4   is                  15    25 

      OPADRO    -113  -118  -111  -115  -120  -114  -116     4  -109  -117  -110

      SCONPO      38    39    40    41    42    43    44     4    45    46    47

      HFDOPO       0     0     0     0     0     0     0     0     0     0     0

 ( 4) SWORKO =     1   609    90     5   blue                26    36 

      OPADRO    -102  -107  -103  -105  -108  -106  -101     5  -104  -112  -110

      SCONPO      48    49    50    51    52    53    54     5    55    56    57

      HFDOPO       0     0     0     0     0     0     0     0     0     0     0

 ( 5) SWORKO =    20    10     1     6   EOS                 37    37 

      OPADRO       6

      SCONPO       6

      HFDOPO       0

*EOS*

*tran4   START*

    1  22 bos the sky is blue .                                                                                                                                                                                                                                                                                       

               ***** THE SWORK TABLE IN tran4  *****

  20  900   2  1          1   29  17  3          2  886   3  4          1  609  90  5         20   10   1  6       

    BOS                    sky                    is                     blue                   EOS                

CLSNFO ARRAYS - NUMBER OF CLAUSES IDENTIFIED   (INCLUDING MAIN CLAUSE) = 1

                NUMBER OF CLAUSES MOVED        (EXCLUDING MAIN CLAUSE) = 0

                NUMBER OF CLAUSES STILL TO BE MOVED                    =  0

              BEGIN  ENDING BEGIN  ENDING

       CLAUSE INPUT  INPUT  OUTPUT OUTPUT PARENT CLMRKR ANTCDN ANTCDN ANTCDN ANTCDN RELPRO

         ID   SWORK  SWORK  SWORK  SWORK  CLAUSE SCONS  SWORK  SCONPT OPIBEG OPIEND SCON  

           1      1      5      1      0      0      0      0      0      0      0      0  

       CLAUSE  PARENT   

         ID    CELLS    ( TRAILING ZEROES ARE NOT PRINTED )

CURRENT CLAUSE ID =  1

CLSCON ARRAYS   (CLSID IS INITIALIZED TO 1. ENTRY NOT PRINTED IF CLSID=1 AND BOTH CMCHLD AND ACHILD = 0

***** A MATCH STARTING AT   1 LEVEL   1       ON ELEMENT  1jj       tran4 

Tran rule #2313, ID: 2312

PURE BOS = -1 / CELL 20 = 1 ST286 EGSP4                                         

 1  (20 900 2)

   -63   1 346   1 -36  56   0 -41   1 999     0   0

Main 30 table #1346

   -55  20   1   0 999

 SW55 - LOADED CELL: 20 WITH VALUE:   1

***** A MATCH STARTING AT   1 LEVEL   3       ON ELEMENT  1jj       tran4 

Tran rule #2255, ID: 2254

BOS .STR. V = -A*0 / SCON 21 OF VERB IN CELL 21 E4 STS1087                      

 3  (20 900 -1)  (52 -1 -1)  (2 -1 95)

   -63   1 867   1 -36  56   0 -41 100 999     0   0

 STR1CHG:     0        STR2CHG:     0        STR3CHG:     0

Main 30 table #1867

   -55  11 -83  11 -55  28 -83 350 -55  18 -83 351 -55  19 -83  19 -55  21 -83  31 -55  43 -83   3 999

 SW55 - LOADED CELL: 11 WITH VALUE:    60, VBRELP =  3

 SW55 - LOADED CELL: 28 WITH VALUE:   886, VBRELP =  3

 SW55 - LOADED CELL: 18 WITH VALUE:     3, VBRELP =  3

 SW55 - LOADED CELL: 19 WITH VALUE:     1, VBRELP =  3

 SW55 - LOADED CELL: 21 WITH VALUE:     0, VBRELP =  3

 SW55 - LOADED CELL: 43 WITH VALUE:     1, VBRELP =  3

***** A MATCH STARTING AT   1 LEVEL   2       ON ELEMENT  1jj       tran4 

Tran rule #2243, ID: 2242

**272 BOS N = BOS -1 / N=WC08 / CK FOR GENUINE BOS ST585 EGSP4                  

 2  (20 900 -1)  (1 -1 -1)

   -42  10 272   1   1 -46 -82   8   0   0

   -63   0 707   1 -41   1 999     0   0

***** A MATCH STARTING AT   1 LEVEL   2       ON ELEMENT  1jj       tran4 

Tran rule #1360, ID: 1359

02 ***272 BOS N = BOS -1 / GENUINE BOS; N=WC18 ST585 EGSP4                      

 2  (10 272 1)  (-1 -1 2)

   -46 -82  18   0   0

   -63   0 696   1 -41   1 999     0   0

Main 30 table #696

   -55  20   1   0  -1   0

   -66  56 399 -82   2 175 777 -82  13   0  60

   -56   1 235 125  15   0

   -57   1 -55  29  81   0 -54   1 -82  46 122

   -57   2 -55  29  91   0 -54   1 -82  46 122

   -57   3

   -66 499 599 -82  31 115 777 -82   5   2  60

   -57   4 -44 -82 107 456   0

   -57   5

   -66 699 799 -81   2 888  60

   -57   6 -46 -82   8   0   0 -55  29   0   0

   -57   7 999

 SW55 - LOADED CELL: 20 WITH VALUE:   1

 SCON(  2,-82) =   29

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  46

 SCON( 31,-82) =  101

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  66

 SCON(  2,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  7   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  86

***** A MATCH STARTING AT   2 LEVEL   2       ON ELEMENT  3jj       tran4 

Tran rule #1714, ID: 1713

**53 (MC) N(B4V) V = -2 / CK F91,F66 E4 ST1284 MMT487                           

 2  (18 -1 -1)  (2 -1 -1)

   -42  10  53   1   1 -46 -81   0 851   0 -46 -82   3   0   0

   -63   2 132   1 -41   2 999     0   0

***** A MATCH STARTING AT   2 LEVEL   2       ON ELEMENT  3jj       tran4 

Tran rule #1227, ID: 1226

02 ***53 (MC) N(NOM) V = -2/AGREEMENT/CK PASSACT/CK AGENT ST785 EGSP4           

 2  (10 53 1)  (18 -1 91)

   -46 -81   0 851   0 -46 -82   3   0   0

   -63   0 187   1 -41   2 999     0   0

Main 30 table #187

   -66 899  56 -81   2 144 777 -81  11  94 777 -82   2 886 777 -81  60 291  60

   -66 348  56 -81  20 140  60

   -66 568  56 -82   2 571 777 -81  19  93  60

   -66 568  56 -82   2 930 777 -81  19  93  60 -55   5 -82 351 -55   9 -81  19

   -56   3  56 199 605  65 777 777   9  93

   -66 678 199 -81  19  93 777 -82 202 571 777 -82 202 930  60

   -57   1 -55   2 -82 351 -55   3 -81   2 -55   4 -81  11

   -56   5 799  56 602  85 777 777   3 140 777 777   4  30

   -56   3 238  56  19   4 777 777  17   1

   -56   3 238  56  19   3 777 777  17   1

   -56   3 348  56  19   4 777 777 618  65

   -56   3 348 458  19   3 777 777 618  65

   -57   2 -54   1 -82 456  24

   -57   3 -16   3   1   3   0 -82

   -57   4 -16 -81 -81 -81   0 -82

   -57   5 -54   1 -81  20  93

   -57   6 -54   1 -81  19   1

   -57   7 -54   1 -81   5   1 -54   1 -81   4   3 -16   3   1   3   0 -82

   -57   8 999

 SCON(  2,-81) =   29

 -66 056 CONDITION AT  16,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  23,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =  886

 -66 056 CONDITION AT  34,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =  886

 -66 056 CONDITION AT  45,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:     3, VBRELP =  3

 SW55 - LOADED CELL:  9 WITH VALUE:     0, VBRELP =  2

 CELL  5  =    3

 CELL  9  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  82

 SW55 - LOADED CELL:  2 WITH VALUE:     3, VBRELP =  3

 SW55 - LOADED CELL:  3 WITH VALUE:    29, VBRELP =  2

 SW55 - LOADED CELL:  4 WITH VALUE:    29, VBRELP =  2

 CELL  2  =    3

 CELL  3  =   29

 CELL  4  =   29

 -56 056 CONDITION AT 108,                              CONTINUE TO THE RIGHT

 CELL 19  =    1

 CELL 17  =    0

 -56 056 CONDITION AT 118,                              CONTINUE TO THE RIGHT

 CELL 19  =    1

 CELL 17  =    0

 -56 056 CONDITION AT 128,                              CONTINUE TO THE RIGHT

 CELL 19  =    1

 CELL 18  =    3

 -56 056 CONDITION AT 138,                              CONTINUE TO THE RIGHT

 CELL 19  =    1

 CELL 18  =    3

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57  5  JUMP -57  8

 SW57 - VTR BREAK POINT, K3: 165

 SW57 - VTR BREAK POINT, K3: 173

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:  205

 SW57 - VTR BREAK POINT, K3: 205

***** A MATCH STARTING AT   2 LEVEL   1       ON ELEMENT  3jj       tran4 

Tran rule #1809, ID: 1808

(MC) N(B4V-NOM) = N)/S91/SC13 IN C27(SUPERSET)CMG7/87/ST585 EGSP4               

 1  (18 851 91)

   -63   0 471   1 999     0   0

Main 30 table #471

   -66 950 902 -81   2 175 777 -81  13   0  60

   -56   1 199  56  17   1 -65   0 953   1 -81 -64   0 252   1 -81 -55  30  18   0

   -57   1

   -66 237  56 -81  20 122 777 -81  10   2  60

   -66 567  56 -81  19 291 777 -81 220 291  60

   -66 699  56 -81  20 140  60

   -66 347 457 -81  19 302 -81  20 291  60

   -57   2  -1   0

   -57   3 -31 -81 -11  91 291   0

   -57   4 -64   0 176   1 -81 -55  29  91   0 -65   0 297   0

   -57   5 -11  91 291   0 -11  93 122   0 149   0  -1   0 -16 -81 -81 -81   1 -81 -31  11

   -57   6 -11  99  -1   0 -31  11

   -57   7 999

 SCON(  2,-81) =   29

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 CELL 17  =    0

 -56 056 CONDITION AT  16,                              CONTINUE TO THE RIGHT

Main 50 table #953

   -66 299  56 -81   2 175 777 -81  13   0  60 -55   5 -81 352

   -56   1  56 299 505  71

   -66 299  56 -81   4   0  60

   -66 299  56 -81   2 350 777 -81  11   0  60

   -56   1 299  56  37 117

   -66 299  56 -81   5   2 -81   2 865  60 -55   5 -81   2 -55   6 -81   1 -55   7 -81  13

   -56   5 299  56   5 303 777 777   6   5 777 777  13   0

   -56   3 299  56   7   5 777 777   6   5

   -56   3 299  56   5 102 777 777   6   5

   -66 299 199 -81  13   5 777 -81 211  94  60

   -57   1 -55  13 -81   4

   -57   2 999

 SCON(  2,-81) =   29

 -66 056 CONDITION AT   8,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:     1, VBRELP =  2

 CELL  5  =    1

 -56 056 CONDITION AT  20,                              CONTINUE TO THE RIGHT

 SCON(  4,-81) =    1

 -66 056 CONDITION AT  25,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   29

 -66 056 CONDITION AT  36,                              CONTINUE TO THE RIGHT

 CELL 37  =    0

 -56 056 CONDITION AT  44,                              CONTINUE TO THE RIGHT

 SCON(  5,-81) =    0

 SCON(  2,-81) =   29

 -66 056 CONDITION AT  52,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:    29, VBRELP =  2

 SW55 - LOADED CELL:  6 WITH VALUE:     1, VBRELP =  2

 SW55 - LOADED CELL:  7 WITH VALUE:     9, VBRELP =  2

 CELL  5  =   29

 CELL  6  =    1

 CELL 13  =    0

 -56 056 CONDITION AT  80,                              CONTINUE TO THE RIGHT

 CELL  7  =    9

 CELL  6  =    1

 -56 056 CONDITION AT  90,                              CONTINUE TO THE RIGHT

 CELL  5  =   29

 CELL  6  =    1

 -56 056 CONDITION AT 100,                              CONTINUE TO THE RIGHT

 SCON( 13,-81) =    9

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 113

 SW55 - LOADED CELL: 13 WITH VALUE:     1, VBRELP =  2

 SW57 - VTR BREAK POINT, K3: 119

Main 40 table #252

   -55   5 -81 351

   -56   1 399  56   5  96

   -66 399  56 -81   1   3 -81   1   6  60

   -66 399  56 -81   2 175 777 -81  13   0  60 -55   5 -81  13 -55   4 -81  62

   -56   3 399  56 424   0 777 777   5   6

   -56   3 399  56 424   0 777 777   5   4

   -56   3 399  56 424   0 777 777   5   7

   -56   3 399  56 424   0 777 777   4 864

   -56   3 399  56 444   0 777 777   5   6

   -56   3 399  56 444   0 777 777   5   4

   -56   3 399  56 444   0 777 777   5   7

   -56   3 399  56 444   0 777 777   4 864

   -66 399  56 -81   1   5 777 -81 202 303  60

   -66 399  56 -81   1  11 -81   1  13  60 -55   1 -81 351

   -56   1 399  56   1  66 -55   5 -81 352

   -56   1  56 399 505  71

   -66 399  56 -81   4   0  60

   -66 399  56 -81   2 350 777 -81  11   0  60

   -56   1 399  56  37 117

   -66 399  56 -81   5   2 -81   2 865  60

   -66 399  56 -81  46 293 -81  60 293  60

   -66 399 199 -81  13   5 777 -81 211  94  60

   -57   1 -55  24 -81 456

   -56   3 299 399  97   0 777 777  98   0

   -57   2 -55  97 -81   4 -55  98 -81   5 -67   6  97  98 -96 -81

   -57   3 999

 SW55 - LOADED CELL:  5 WITH VALUE:    17, VBRELP =  2

 CELL  5  =   17

 -56 056 CONDITION AT   9,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 SCON(  1,-81) =    1

 -66 056 CONDITION AT  17,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   29

 -66 056 CONDITION AT  28,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:     9, VBRELP =  2

 SW55 - LOADED CELL:  4 WITH VALUE:     0, VBRELP =  2

 CELL 24  =    0

 CELL  5  =    9

 -56 056 CONDITION AT  48,                              CONTINUE TO THE RIGHT

 CELL 24  =    0

 CELL  5  =    9

 -56 056 CONDITION AT  58,                              CONTINUE TO THE RIGHT

 CELL 24  =    0

 CELL  5  =    9

 -56 056 CONDITION AT  68,                              CONTINUE TO THE RIGHT

 CELL 24  =    0

 CELL  4  =    0

 -56 056 CONDITION AT  78,                              CONTINUE TO THE RIGHT

 CELL 44  =    0

 CELL  5  =    9

 -56 056 CONDITION AT  88,                              CONTINUE TO THE RIGHT

 CELL 44  =    0

 CELL  5  =    9

 -56 056 CONDITION AT  98,                              CONTINUE TO THE RIGHT

 CELL 44  =    0

 CELL  5  =    9

 -56 056 CONDITION AT 108,                              CONTINUE TO THE RIGHT

 CELL 44  =    0

 CELL  4  =    0

 -56 056 CONDITION AT 118,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 -66 056 CONDITION AT 127,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 SCON(  1,-81) =    1

 -66 056 CONDITION AT 137,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  1 WITH VALUE:    17, VBRELP =  2

 CELL  1  =   17

 -56 056 CONDITION AT 149,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:     1, VBRELP =  2

 CELL  5  =    1

 -56 056 CONDITION AT 159,                              CONTINUE TO THE RIGHT

 SCON(  4,-81) =    1

 -66 056 CONDITION AT 164,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   29

 -66 056 CONDITION AT 175,                              CONTINUE TO THE RIGHT

 CELL 37  =    0

 -56 056 CONDITION AT 183,                              CONTINUE TO THE RIGHT

 SCON(  5,-81) =    0

 SCON(  2,-81) =   29

 -66 056 CONDITION AT 191,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 SCON( 60,-81) =    0

 -66 056 CONDITION AT 201,                              CONTINUE TO THE RIGHT

 SCON( 13,-81) =    9

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 216

 SW55 - LOADED CELL: 24 WITH VALUE:   113, VBRELP =  2

 CELL 97  =    0

 CELL 98  =    0

 -56 SWITCH TEST: CONDITION TRUE AT 230

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 232

 SW55 - LOADED CELL: 97 WITH VALUE:     1, VBRELP =  2

 SW55 - LOADED CELL: 98 WITH VALUE:     0, VBRELP =  2

 SW57 - VTR BREAK POINT, K3: 248

 SW55 - LOADED CELL: 30 WITH VALUE:  18

 SW57 - VTR BREAK POINT, K3:  32

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  41,                              CONTINUE TO THE RIGHT

 SCON( 19,-81) =    0

 -66 056 CONDITION AT  52,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  59,                              CONTINUE TO THE RIGHT

 SCON( 19,-81) =    0

 SCON( 20,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57  5  JUMP -57  7

 SW57 - VTR BREAK POINT, K3:  85

Main 40 table #176

   -56   1  93  10  99  99  56  50 122 -55   5 -81 351

   -56   1  93  10  99  99  56   5  96

   -66  93  10  99  99  56 -81   1   3 -81   1   6  60

   -66 399  56 -81  13   5 -81  11  35 -81  11  94  60

   -56   1  56 699  50   0

   -56   1 126 299   5  66

   -57   1 -55  50 123   0 -67   6  50  50 -96 -81

   -57   2

   -57   3 -55   6 -81 352

   -56   2  93  10  99  99  56   6  50   6   5

   -56   1 456 599   5  66

   -57   4 -55  50 123   0 -67   6  50  50 -96 -81

   -57   5 -55  50 -81 456 -67   6  50  50 -96 -81

   -57   6

   -56   1  56  93  10  99  99  27   0

   -66  93   7   8  99 899 -81  13   3 777 -81  11  35  60

   -57   7 -55  27  35   0

   -57   8 -55  27 -81  13

   -57  10 999

 CELL 50  =    0

 -56 056 CONDITION AT   8,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:    17, VBRELP =  2

 CELL  5  =   17

 -56 056 CONDITION AT  21,                              CONTINUE TO THE RIGHT

 SCON(  1,-81) =    1

 SCON(  1,-81) =    1

 -66 056 CONDITION AT  32,                              CONTINUE TO THE RIGHT

 SCON( 13,-81) =    9

 SCON( 11,-81) =   29

 SCON( 11,-81) =   29

 -66 056 CONDITION AT  45,                              CONTINUE TO THE RIGHT

 CELL 50  =    0

 -56 056 CONDITION AT  53,                              CONTINUE TO THE RIGHT

 CELL  5  =   17

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  73

 SW57 - VTR BREAK POINT, K3:  75

 SW55 - LOADED CELL:  6 WITH VALUE:     1, VBRELP =  2

 CELL  6  =    1

 CELL  6  =    1

 -56 056 CONDITION AT  90,                              CONTINUE TO THE RIGHT

 CELL  5  =   17

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  5   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 110

 SW55 - LOADED CELL: 50 WITH VALUE:   113, VBRELP =  2

 SW57 - VTR BREAK POINT, K3: 122

 CELL 27  =    0

 -56 056 CONDITION AT 131,                              CONTINUE TO THE RIGHT

 SCON( 13,-81) =    9

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  8   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 153

 SW55 - LOADED CELL: 27 WITH VALUE:     9, VBRELP =  2

 SW57 - VTR BREAK POINT, K3: 159

 SW55 - LOADED CELL: 29 WITH VALUE:  91

Main 50 table #297

   -66 950 902 -81   2 175 777 -81 213   4 777 -81 213   7  60

   -66 950 902 -81   2 392 777 -81  13   1  60

   -66 950 902 -81   2 401 777 -81  13   1  60

   -66 950 902 -81   2 440 777 -81  13   2  60

   -66 950 711 -81  20  92 -81  20  93 -81  20  94  60

   -66 199  56 -81  62 859 -81  62 858 -81  62 865 -81  62 989  60 -65   0 627   1 -81 -64   0 179   1 -81

   -57   1

   -66 239  56 -81  20  54  60

   -56   3 239  56  19   4 777 777  17   1

   -56   3 349  56  19   3 777 777  17   1

   -56   3 459  56 618  65 777 777  19   4

   -56   3 569  56 618  65 777 777  19   3

   -56   3  93  10  11  99  56 618  65 777 777  19   2

   -66 789  56 -81  19  93 -81  20  93  60

   -56   5 789  56  43   3 777 777 618  65 777 777  17   0

   -56   5 789  56  43   7 777 777 618  65 777 777  17   0

   -56   5 789  56  43   2 777 777 618  65 777 777  17   0

   -56   5 789  56  43   6 777 777 618  65 777 777  17   0

   -66 349  56 -81  20  53  60

   -66  93   8  10  99  56 -81  20 488  60

   -66  93   8  10  99  56 -81  19  94  60

   -66 789  56 -81  19  93  60

   -66 459  56 -81  20  84  60

   -66 569  56 -81  20  83  60

   -56   1  93   8  10  99 679  17   1

   -57   2 -55  29  83   0 -11  83 117   0 -38   4  -1   0

   -57   3 -55  29  83   0 -11  83 117   0 -38   3  -1   0

   -57   4 -55  29  91   0 -11  91 117   0 -38   4  -1   0

   -57   5 -55  29  91   0 -11  91 117   0 -38   3  -1   0

   -57   6 -55  29  91   0 -11  91 -38   1  -1   0

   -57   7 -55  29  91   0 -11  91 -38   3  -1   0

   -57   8 -55  29  88   0 -11  88 -38   4  -1   0 -31  11

   -57  10 -55  29  88   0 -11  91 117   0 -38   2  -1   0 -31  11

   -57  11 999

 SCON(  2,-81) =   29

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON(  2,-81) =   29

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON(  2,-81) =   29

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON(  2,-81) =   29

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 20,-81) =    1

 SCON( 20,-81) =    1

 SCON( 20,-81) =    1

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 SCON( 62,-81) =    0

 -66 056 CONDITION AT  74,                              CONTINUE TO THE RIGHT

Main 50 table #627

   -66 699  56 -81  31 101 -81  46 101 -81  62 849 -81  62 864 -81  62 848 -81  62 851 -81  46 621 -81  46 341 -81   9  11 -81   9  21 -81   9  31 -81   9  19 -81   9  29 -81   9  39  60

   -66 699  56 -81   2 303 777 -81 213   4 777 -81 213   7  60 -55   3 -81 350

   -56   1 699  56   3 175

   -66 699  56 -81  46 319 -81  46 101 -81  19 140  60

   -66 699  56 -81  43 140  60 -55   6 -81  31 -55   5 -81 351

   -56   3 699  56   6   0 777 777   5  90 -55   1 -81   2 -55   2 -81  11 -55   8 -81  13 -55   9 -81  46

   -56   7 456  56   6   0 777 777   9   0 777 777   2  21 777 777  43   2

   -56   9 456  56   5  91 777 777   1 855 777 777   2  94 777 777   8   5 777 777   6   0

   -66 699  56 -81  60 140 -81  20 140  60

   -56   2 699  56   5  43   5  55

   -56   1  56 399  15 942

   -66 126  56 -81  31 115 777 -81   5   2  60

   -66 236 399 -81  31 115 777 -81   5   1  60

   -57   1 -44 -81 107 140   0 -54   1 -81  46 140 -48  43 -81   9

   -57   2 -44 -81 107 532   0 -54   1 -81  46 315 -48  43 -81   6

   -57   3 -55   3 -81 352

   -56   1 699  56   3  23

   -66 699  56 -81  31 115 777 -81 246   0  60

   -66 699  56 -81 239   0 -81  42 575  60

   -66 699  56 -81  62 850 -81  62 864  60

   -66 699  56 -81   1   5  60

   -66  56 699 -81  31   0  60

   -66  56 699 -81   5   1 -81   5   0  60

   -66  56 699 -81  32   0 777 -81  33   0 777 -81  35   0 777 -81  36   0 777 -81  41   0 777 -81  46   0  60

   -66 699  56 -81  11  21 -81  11  52  60

   -66 456  56 -81  13   4 -81  13   7  60

   -66 456  56 -81   2  23 -81   2 582 -81   2 327 -81   2 655 -81   2 602 -81   2  78 -81   2 702 -81   2  50 -81   2 173 -81   2 708 -81   2 749 -81   2 574 -81   2 450 -81   2 716 -81   2 297  60

   -66  56 699 -81   2  46 -81   2  49 -81   2 609  60

   -66 456 699 -81  17  58 -81  42   0  60

   -57   4 -48  43 -81   3 -44 -81 107 131   0 -54   1 -81  46 101

   -57   5 -65   0 722   1 -81

   -57   6 999

 SCON( 31,-81) =  101

 -66 SWITCH TEST: CONDITION TRUE AT   4

 BRANCH TO -57  6   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 453

Main 40 table #179

   -66 899 199 -81 246   0 -81   1  -5 -81   1   5  60

   -57   1

   -66 899  56 -81  46 319 -81  46 101 -81  19 140  60 -55   5 -81  31 -55   6 -81   5

   -66 348  56 -81  31 315 777 -81   5   2 777 -81 246 101  60

   -66 348  56 -81  13  11 777 -81  31 115  60

   -56   5 678  56   5 115 777 777  67 909 777 777   6   2

   -56   3 238  56  67 909 777 777   5 115

   -56   7  56 499 467   0 457   0  15 968  15 977  15 967  15 976  15 942

   -66  56 499 -81  46   0 777 -81  47   0  60

   -66  56 499 -81  31 315  60

   -66 348 899 -81   5   2  60

   -57   2 -44 -81 107 532   0 -48  43 -81   6 -54   1 -81  46 115

   -57   3 -44 -81 107 140   0 -54   1 -81  46 140 -48  43 -81   9

   -57   4

   -66 568  56 -81  31 115 777 -81   5   2  60

   -66 799  56 -81  31 115 777 -81 240   0  60

   -66 799 899 -81  31 115  60

   -57   5 -44 -81 107 456   0 -48  43 -81   6

   -57   6 -44 -81 107 341   0 -48  43 -81   6 -54   1 -81  46 341

   -57   7 -44 -81 107 621   0 -48  43 -81   3 -54   1 -81  46 621

   -57   8 999

 SCON( 46,-81) =    0

 SCON(  1,-81) =    1

 SCON(  1,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  14

 SCON( 46,-81) =    0

 SCON( 46,-81) =    0

 SCON( 19,-81) =    0

 -66 056 CONDITION AT  25,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:   101, VBRELP =  2

 SW55 - LOADED CELL:  6 WITH VALUE:     0, VBRELP =  2

 SCON( 31,-81) =  101

 -66 056 CONDITION AT  48,                              CONTINUE TO THE RIGHT

 SCON( 13,-81) =    9

 -66 056 CONDITION AT  59,                              CONTINUE TO THE RIGHT

 CELL  5  =  101

 CELL 67  =    0

 CELL  6  =    0

 -56 056 CONDITION AT  75,                              CONTINUE TO THE RIGHT

 CELL 67  =    0

 CELL  5  =  101

 -56 056 CONDITION AT  85,                              CONTINUE TO THE RIGHT

 CELL 67  =    0

 CELL 57  =    0

 CELL 15  =    0

 CELL 15  =    0

 CELL 15  =    0

 CELL 15  =    0

 CELL 15  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 162

 SCON( 31,-81) =  101

 -66 056 CONDITION AT 171,                              CONTINUE TO THE RIGHT

 SCON( 31,-81) =  101

 -66 056 CONDITION AT 182,                              CONTINUE TO THE RIGHT

 SCON( 31,-81) =  101

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  8   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 236

 SW57 - VTR BREAK POINT, K3:  88

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  93,                              CONTINUE TO THE RIGHT

 CELL 19  =    1

 CELL 17  =    0

 -56 056 CONDITION AT 105,                              CONTINUE TO THE RIGHT

 CELL 19  =    1

 CELL 17  =    0

 -56 056 CONDITION AT 115,                              CONTINUE TO THE RIGHT

 CELL 18  =    3

 CELL 19  =    1

 -56 056 CONDITION AT 125,                              CONTINUE TO THE RIGHT

 CELL 18  =    3

 CELL 19  =    1

 -56 056 CONDITION AT 135,                              CONTINUE TO THE RIGHT

 CELL 18  =    3

 CELL 19  =    1

 -56 056 CONDITION AT 148,                              CONTINUE TO THE RIGHT

 SCON( 19,-81) =    0

 SCON( 20,-81) =    1

 -66 056 CONDITION AT 156,                              CONTINUE TO THE RIGHT

 CELL 43  =    1

 CELL 18  =    3

 CELL 17  =    0

 -56 056 CONDITION AT 172,                              CONTINUE TO THE RIGHT

 CELL 43  =    1

 CELL 18  =    3

 CELL 17  =    0

 -56 056 CONDITION AT 186,                              CONTINUE TO THE RIGHT

 CELL 43  =    1

 CELL 18  =    3

 CELL 17  =    0

 -56 056 CONDITION AT 200,                              CONTINUE TO THE RIGHT

 CELL 43  =    1

 CELL 18  =    3

 CELL 17  =    0

 -56 056 CONDITION AT 214,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT 219,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT 229,                              CONTINUE TO THE RIGHT

 SCON( 19,-81) =    0

 -66 056 CONDITION AT 239,                              CONTINUE TO THE RIGHT

 SCON( 19,-81) =    0

 -66 056 CONDITION AT 246,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT 253,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT 260,                              CONTINUE TO THE RIGHT

 CELL 17  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  6   EXECUTE UNTIL -57  7  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 329

 SW55 - LOADED CELL: 29 WITH VALUE:  91

 SW57 - VTR BREAK POINT, K3: 341

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:  385

 SW57 - VTR BREAK POINT, K3: 100

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:  130

 SW57 - VTR BREAK POINT, K3: 130

***** A MATCH STARTING AT   3 LEVEL   2       ON ELEMENT  4jj       tran4 

Tran rule #423, ID: 422

BE PREDADJ = -2 S487 E4                                                         

 2  (3 886 -1)  (1 -1 90)

   -63   1 703   1 -36  56   0 -41   2 999     0   0

Main 30 table #1703

   -66 699  56 -81  19 140  60 -64   0 386   2 -81 -82

   -66 199  56 -81  31 460 777 -81 217  15  60

   -66 199 299 -81  31 461 777 -81 217  15  60

   -57   1 -54   1 -81  46  87

   -57   2 -16 -81 -81 -81   0 -82

   -66 399 499 -81  20 896  60

   -57   3 -55  21   0   0 -54   1 -81  28 482 -11  83 482   0 -31  11

   -57   4

   -66 567 799 -81  19  30 777 -81  53 735 777 -82   2 428  60

   -57   5 -54   1 -82  20 140

   -57   6 -36 140 -81

   -57   7

   -66  56 899 -81   1  12  60 -55  21 -81   2

   -57   8 999

 SCON( 19,-81) =    1

 -66 056 CONDITION AT   4,                              CONTINUE TO THE RIGHT

Main 40 table #386

   -66 199 299 -81  19 191  60

   -57   1 -44   2 -81   1 117 102 -48 102 -81 -82

   -57   2 999

 SCON( 19,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  20

 SCON( 31,-81) =    0

 -66 056 CONDITION AT  21,                              CONTINUE TO THE RIGHT

 SCON( 31,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  43

 SCON( 20,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  75

 SCON( 19,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  7   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 104

 SCON(  1,-81) =    2

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  8   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 117

***** A MATCH STARTING AT   3 LEVEL   1       ON ELEMENT  4jj       tran4 

Tran rule #380, ID: 379

V(ACT) = -1/ STS286 E4                                                          

 1  (3 -1 96)

   -63   1 288   1 -36  56   0 -41   1 999     0   0

Main 30 table #1288

   -55  11 -81  11 -55  28 -81   2

   -56   1 199 499  16 591

   -57   1

   -56   1 399 299  20   1

   -57   2 -55  16 592   0 -11  81 291   0

   -57   3 -11  93 122   0 -31  11

   -57   4 999

 SW55 - LOADED CELL: 11 WITH VALUE:    60, VBRELP =  3

 SW55 - LOADED CELL: 28 WITH VALUE:   886, VBRELP =  3

 CELL 16  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  41

***** A MATCH STARTING AT   3 LEVEL   2       ON ELEMENT  4jj       tran4 

Tran rule #229, ID: 228

**31 (MC) V N = -2(SICÜ) / MC CHAIN/ E4 ST286 MMT0289                           

 2  (3 -1 -1)  (1 -1 -1)

   -42  10  31   1   2 -46 -82   6   0   0 -46 -81   2 851   0

   -63   1 283   1 -41   2 999    -1  -1

***** A MATCH STARTING AT   3 LEVEL   3       ON ELEMENT  4jj       tran4 

Tran rule #1218, ID: 1217

02***31(MC) V N (ACC) = -2/CK FOR BE-TYPE VERBS E4 MMT1288                      

 3  (10 31 1)  (3 11 -1)  (1 -2 -1)

  { 6010   81   60   61    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0 }

   -63   2 168   1 -55   2 -82 351

   -56   7 123 299   2  90   2  53   2  43   2  86   2  96   2  88     2  79

   -57   1 -46 -82   6   0   0

   -57   2 -46 -82   6   0  81

   -57   3 -46 -81   2 851   0 -41     2 999     0

Main 30 table #2168

   -64   0 386   2 -81 -82 -64   0 275   0

   -66 699  56 -81  19 140 -82  20 140  60

   -66 699  56 -82   2 175 777 -82  13   0  60

   -66 199  56 -81  31 461 777 -81   2 710 777 -82  31   0  60 -65   0 627   1 -82

   -66 199 299 -81  31 461 -81  31 460  60

   -57   1 -64   0  71   2 -81 -82

   -57   2

   -66  56 399 -82  20 101  60 -36  53 -82 -54   1 -82   7   3 -44 -82 102 134   0

   -57   3

   -56   1  56 699  16 591

   -56   1 599 499  20   1

   -57   4 -11  81 291   0

   -57   5 -55  16 592   0

   -57   6 999

Main 40 table #386

   -66 199 299 -81  19 191  60

   -57   1 -44   2 -81   1 117 102 -48 102 -81 -82

   -57   2 999

 SCON( 19,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  20

Main 40 table #275

   -64   0 258   0 -55   5 -81 351

   -56   1 299 199   5  39

   -57   1 -55  29   0   0 -55  19 -81  19 -55  43 -81   3

   -57   2

   -66  56 499 -82   2 175 777 -82  13   0  60

   -66 399 499 -82  19 401 -82  19 402 -82  19 392  60

   -57   3 -54   1 -81  48  16

   -57   4 999

Main 40 table #258

   -56   1  56 299  28 705 -55   5 -82 351

   -56   1  56 299   5  90

   -66  56 299 -81  20  31  60

   -66 199 299 -82   2 180 -82   2 181 -82   2 183  60

   -57   1 -44 -81 120 496   0

   -57   2 999

 CELL 28  =  886

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  44

 SW55 - LOADED CELL:  5 WITH VALUE:     3, VBRELP =  3

 CELL  5  =    3

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  15

 SW55 - LOADED CELL: 29 WITH VALUE:   0

 SW55 - LOADED CELL: 19 WITH VALUE:     1, VBRELP =  3

 SW55 - LOADED CELL: 43 WITH VALUE:     1, VBRELP =  3

 SW57 - VTR BREAK POINT, K3:  29

 SCON(  2,-82) =  609

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  62

 SCON( 19,-81) =    1

 SCON( 20,-82) =    1

 -66 056 CONDITION AT  17,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =  609

 -66 056 CONDITION AT  28,                              CONTINUE TO THE RIGHT

 SCON( 31,-81) =    0

 -66 056 CONDITION AT  43,                              CONTINUE TO THE RIGHT

Main 50 table #627

   -66 699  56 -82  31 101 -82  46 101 -82  62 849 -82  62 864 -82  62 848 -82  62 851 -82  46 621 -82  46 341 -82   9  11 -82   9  21 -82   9  31 -82   9  19 -82   9  29 -82   9  39  60

   -66 699  56 -82   2 303 777 -82 213   4 777 -82 213   7  60 -55   3 -82 350

   -56   1 699  56   3 175

   -66 699  56 -82  46 319 -82  46 101 -82  19 140  60

   -66 699  56 -82  43 140  60 -55   6 -82  31 -55   5 -82 351

   -56   3 699  56   6   0 777 777   5  90 -55   1 -82   2 -55   2 -82  11 -55   8 -82  13 -55   9 -82  46

   -56   7 456  56   6   0 777 777   9   0 777 777   2  21 777 777  43   2

   -56   9 456  56   5  91 777 777   1 855 777 777   2  94 777 777   8   5 777 777   6   0

   -66 699  56 -82  60 140 -82  20 140  60

   -56   2 699  56   5  43   5  55

   -56   1  56 399  15 942

   -66 126  56 -82  31 115 777 -82   5   2  60

   -66 236 399 -82  31 115 777 -82   5   1  60

   -57   1 -44 -82 107 140   0 -54   1 -82  46 140 -48  43 -82   9

   -57   2 -44 -82 107 532   0 -54   1 -82  46 315 -48  43 -82   6

   -57   3 -55   3 -82 352

   -56   1 699  56   3  23

   -66 699  56 -82  31 115 777 -82 246   0  60

   -66 699  56 -82 239   0 -82  42 575  60

   -66 699  56 -82  62 850 -82  62 864  60

   -66 699  56 -82   1   5  60

   -66  56 699 -82  31   0  60

   -66  56 699 -82   5   1 -82   5   0  60

   -66  56 699 -82  32   0 777 -82  33   0 777 -82  35   0 777 -82  36   0 777 -82  41   0 777 -82  46   0  60

   -66 699  56 -82  11  21 -82  11  52  60

   -66 456  56 -82  13   4 -82  13   7  60

   -66 456  56 -82   2  23 -82   2 582 -82   2 327 -82   2 655 -82   2 602 -82   2  78 -82   2 702 -82   2  50 -82   2 173 -82   2 708 -82   2 749 -82   2 574 -82   2 450 -82   2 716 -82   2 297  60

   -66  56 699 -82   2  46 -82   2  49 -82   2 609  60

   -66 456 699 -82  17  58 -82  42   0  60

   -57   4 -48  43 -82   3 -44 -82 107 131   0 -54   1 -82  46 101

   -57   5 -65   0 722   1 -82

   -57   6 999

 SCON( 31,-82) =    0

 SCON( 46,-82) =    0

 SCON( 62,-82) =    0

 SCON( 62,-82) =    0

 SCON( 62,-82) =    0

 SCON( 62,-82) =    0

 SCON( 46,-82) =    0

 SCON( 46,-82) =    0

 SCON(  9,-82) =    0

 SCON(  9,-82) =    0

 SCON(  9,-82) =    0

 SCON(  9,-82) =    0

 SCON(  9,-82) =    0

 SCON(  9,-82) =    0

 -66 056 CONDITION AT  43,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =  609

 -66 056 CONDITION AT  58,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  3 WITH VALUE:   609, VBRELP =  4

 CELL  3  =  609

 -56 056 CONDITION AT  70,                              CONTINUE TO THE RIGHT

 SCON( 46,-82) =    0

 SCON( 46,-82) =    0

 SCON( 19,-82) =    0

 -66 056 CONDITION AT  81,                              CONTINUE TO THE RIGHT

 SCON( 43,-82) =    0

 -66 056 CONDITION AT  88,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  6 WITH VALUE:     0, VBRELP =  4

 SW55 - LOADED CELL:  5 WITH VALUE:    90, VBRELP =  4

 CELL  6  =    0

 CELL  5  =   90

 -56 SWITCH TEST: CONDITION TRUE AT 108

 BRANCH TO -57  6   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 453

 SCON( 31,-81) =    0

 SCON( 31,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  70

 SCON( 20,-82) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  92

 CELL 16  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  6   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 118

 SW55 - LOADED CELL:  2 WITH VALUE:    90, VBRELP =  4

 CELL  2  =   90

 -56 SWITCH TEST: CONDITION TRUE AT  13

 BRANCH TO -57  1   EXECUTE UNTIL -57  2  JUMP -57  3

 SW57 - VTR BREAK POINT, K3:  27

 SW57 - VTR BREAK POINT, K3:  34

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:   41

 SW57 - VTR BREAK POINT, K3:  41

***** A MATCH STARTING AT   3 LEVEL   1       ON ELEMENT  4jj       tran4 

Tran rule #110, ID: 109

(MC) V(PRES-PUNCT-ACT) = (V) / CK PASSACT ST386 EGSP4                           

 1  (2 851 51)

   -63   0  40   1 999    -1  -1

Main 30 table #40

   -66 123 299 -81  19 140  60

   -57   1 -27 -81  -1 140

   -57   2 -65   0 253   0

   -57   3 999

 SCON( 19,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  14

Main 50 table #253

   -55   3 -81  20

   -56   1 950 839   3 140 -55   5 -81  19

   -56   1 950 575   5  65

   -56   1 950 576   5  66

   -56   1 950 518   5  54

   -66 950 576 -81  20 273  60 -65 100 501   0  -1   0 999

 SW55 - LOADED CELL:  3 WITH VALUE:     1, VBRELP =  3

 CELL  3  =    1

 -56 CONDITION FALSE, CONTINUE THIS VTR 

 SW55 - LOADED CELL:  5 WITH VALUE:     1, VBRELP =  3

 CELL  5  =    1

 -56 CONDITION FALSE, CONTINUE THIS VTR 

 CELL  5  =    1

 -56 CONDITION FALSE, CONTINUE THIS VTR 

 CELL  5  =    1

 -56 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 20,-81) =    1

 -66 CONDITION FALSE, CONTINUE THIS VTR 

Main 50 table #501

   -64   0  80   1 -81

   -66 950 840 -81  59 336  60 -55   3 -81  12

   -56   2 126  56   3   3   3   5

   -56   1 236  56   3   4

   -56   1 347  56   3   7

   -56   1 457  56   3   8

   -56   1 567 699   3   9

   -57   1 -11  81 271   0 -16   1 -81 -81   3 271

   -57   2 -11  81 271   0 -16   1 -81 -81   4 271

   -57   3 -11  92 -38   4  -1   0 -11  82 330   0 -16 -81 -81 -81   1 330

   -57   4 -11  92 -38   4  -1   0 -11  82 330   0 -16 -81 -81 -81   1 330 -11  81 271   0 -16   1 -81 -81   3 271

   -57   5 -11  92 -38   4  -1   0 -11  82 330   0 -16 -81 -81 -81   1 330 -11  81 271   0 -16   1 -81 -81   4 271

   -57   6 -11  82 -38   1  -1   0

   -57   7 -11  91 -27 -81

   -57   8

   -66 950 514 -81  48  16  60

   -66 950 517 -81  48  19  60 999

Main 40 table #80

   -66 399  56 -81  60 140 -81  59   0  60

   -66 123  56 -81  15   1 -81  15   2  60

   -66 123  56 -81  59   9 -81  59  13 -81  59  14 -81  59  15 -81  59  16 -81  59  32  60

   -66 123  56 -81  59  33 -81  59  34 -81  59  35 -81  59  36 -81  59  37 -81  59  38  60

   -66 123  56 -81  59  39 -81  59  40 -81  59  41 -81  59  42 -81  59  43 -81  59  44  60

   -66 123  56 -81  59  45 -81  59  46 -81  59  48 -81  59  49 -81  59  58 -81  59  66  60

   -66 123  56 -81  59  80 -81  59 100 -81  59 121 -81  59 130 -81  59 133 -81  59 136  60

   -66 123  56 -81  59 150 -81  59 151 -81  59 152 -81  59 153 -81  59 154 -81  59 155  60

   -66 123  56 -81  59 156 -81  59 157 -81  59 169 -81  59 171 -81  59 181 -81  59 182  60

   -66 123  56 -81  59 267 -81  59 269 -81  59 271 -81  59 273 -81  59 278 -81  59 281  60

   -66 123  56 -81  59 283 -81  59 287 -81  59 289 -81  59 290 -81  59 291 -81  59 293  60

   -66 123  56 -81  59 296 -81  59 301 -81  59 303 -81  59 306 -81  59 308 -81  59 309  60

   -66 123  56 -81  59 310 -81  59 311 -81  59 316 -81  59 319 -81  59 325 -81  59 328  60

   -66 123 299 -81  59 510 -81  59 530 -81  59 543 -81  59 544 -81  59 545  60

   -57   1 -54   1 -81  59 336 -55  59 336   0

   -57   2 -64   0 393   1 -81

   -57   3 999

 SCON( 60,-81) =    0

 SCON( 59,-81) =    1

 -66 056 CONDITION AT   7,                              CONTINUE TO THE RIGHT

 SCON( 15,-81) =    0

 SCON( 15,-81) =    0

 -66 056 CONDITION AT  17,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  39,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  61,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  83,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 105,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 127,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 149,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 171,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 193,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 215,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 237,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 259,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 293

Main 40 table #393

   -66 199  56 -81  59 188 -81  59 189 -81  59 196 -81  59 203 -81  59 205 -81  59 206  60

   -66 199  56 -81  59 207 -81  59 209 -81  59 210 -81  59 229 -81  59 231 -81  59 237  60

   -66 199  56 -81  59 240 -81  59 246 -81  59 248 -81  59 250 -81  59 253 -81  59 256  60

   -66 199  56 -81  59 330 -81  59 331 -81  59 333 -81  59 338 -81  59 340 -81  59 343  60

   -66 199  56 -81  59 346 -81  59 348 -81  59 350 -81  59 352 -81  59 355 -81  59 358  60

   -66 199  56 -81  59 360 -81  59 363 -81  59 365 -81  59 368 -81  59 371 -81  59 375  60

   -66 199  56 -81  59 378 -81  59 384 -81  59 387 -81  59 388 -81  59 389 -81  59 391  60

   -66 199  56 -81  59 394 -81  59 396 -81  59 397 -81  59 398 -81  59 399 -81  59 400  60

   -66 199  56 -81  59 401 -81  59 402 -81  59 403 -81  59 405 -81  59 406 -81  59 407  60

   -66 199  56 -81  59 408 -81  59 409 -81  59 410 -81  59 413 -81  59 438 -81  59 430  60

   -66 199  56 -81  59 435 -81  59 436 -81  59 439 -81  59 441 -81  59 442 -81  59 444  60

   -66 199  56 -81  59 445 -81  59 447 -81  59 448 -81  59 450 -81  59 451 -81  59 452  60

   -66 199  56 -81  59 454 -81  59 456 -81  59 459 -81  59 462 -81  59 480 -81  59 481  60

   -66 199  56 -81  59 139 -81  59 199 -81  59 234 -81  59 243 -81  59 259 -81  59 299  60

   -66 199 299 -81  59 313 -81  59 322 -81  59 596 -81  59 602 -81  59 643  60

   -57   1 -54   1 -81  59 336 -55  59 336   0

   -57   2 999

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  19,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  41,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  63,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT  85,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 107,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 129,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 151,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 173,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 195,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 217,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 239,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 261,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 283,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 056 CONDITION AT 305,                              CONTINUE TO THE RIGHT

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 SCON( 59,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 339

 SW57 - VTR BREAK POINT, K3: 300

 SCON( 59,-81) =    1

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SW55 - LOADED CELL:  3 WITH VALUE:     2, VBRELP =  3

 CELL  3  =    2

 CELL  3  =    2

 -56 056 CONDITION AT  23,                              CONTINUE TO THE RIGHT

 CELL  3  =    2

 -56 056 CONDITION AT  29,                              CONTINUE TO THE RIGHT

 CELL  3  =    2

 -56 056 CONDITION AT  35,                              CONTINUE TO THE RIGHT

 CELL  3  =    2

 -56 056 CONDITION AT  41,                              CONTINUE TO THE RIGHT

 CELL  3  =    2

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  6   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 147

 SW57 - VTR BREAK POINT, K3: 155

 SW57 - VTR BREAK POINT, K3: 161

 SCON( 48,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 48,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

***** A MATCH STARTING AT   4 LEVEL   2       ON ELEMENT  5jj       tran4 

Tran rule #689, ID: 688

(MC) N PUNC(CB) = -2(SICÜ) / (MC)CHAIN JV582 EGSP4                              

 2  (6 -1 -1)  (20 -1 -1)

   -63   1 948   3 -46 -82  16   0   0 -46 -81   1 851   0 -41   2 999     0   0

Main 30 table #1948

   -64   0 357   2 -81 -82 -64   0 382   2 -81 -82

   -66 127  56 -81   2 733 777 -81  31 102 777 -82   2 887 777 -81 205   2  60

   -66 457  56 -82   2 947  60 -55   5 -81 351

   -56   1  56 399   5  50

   -66 235  56 -81   2 596 777 -81  11  90 777 -82   2 968  60

   -66 456 399 -82  11  20 -82   1  20  60

   -57   1 -44 -81 107 140   0 -36 750 -81 -13 -81

   -57   2 -32 -99   8 -36 933 -81 -13 -81 -64   0  83   0 122   0

   -57   3

   -66 599  56 -82   2 410  60

   -66 567  56 -81   2 873  60

   -66 699  56 -82 246   0  60

   -66 457  56 -82  11  20  60

   -66 499  56 -82   2   1 -82   2 909 -82   2 186 -82   2 185 -82   2 189 -82   2 887  60

   -66 499  56 -82   2 886 -82   2 884 -82   2   5 -82   2 866 -82   2 386 -82   2 877  60

   -66 499  56 -82   2 885 -82   2 387 -82   2 777 -82   2 130 -82   2 826  60

   -66 499  56 -82   2 829 -82   2 830  60

   -66  56 799 -82   2 850  60

   -66 457 799 -81  45   2 -81  12   2  60

   -57   4 -54   1 -82  46 140

   -57   5 -54   1 -81  48  16

   -57   6 -54   1 -82   4 -81 -54   1 -82   5 -81

   -57   7

   -66  56 899 -82   2 888  60 -55   5 -81 351

   -56   1 899  56   5  53

   -56   1  56 899 505  85

   -56   2  56 899  18   5  18  35 -54   1 -82  82   0 -54   1 -82  83  21

   -57   8 999

Main 40 table #357

   -55   5 -81 351

   -56   1  56 299   5  43

   -66 126 299 -81   2 274 777 -81   1   6 777 -82   1  19 777 -82   2 911  60

   -57   1 -36 673 -81

   -57   2

   -66 346 499 -81  13  12 777 -81   2 945 777 -82   2 915 777 -82  60 309  60

   -57   3 -54   1 -82  46 309 -33 -81

   -57   4

   -66  56 699 -82   2 887  60

   -66  56 699 -81   1  11 -81   1  13 -81   1   3  60

   -66 599 699 -81   2 481 -81   2 945 -81   2 703 -81   2 132 -81   2 159 -81   2 522  60

   -57   5 -54   1 -81  20  93

   -57   6 999

 SW55 - LOADED CELL:  5 WITH VALUE:    90, VBRELP =  4

 CELL  5  =   90

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  35

 SCON( 13,-81) =    6

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  4   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  65

 SCON(  2,-82) =   10

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  6   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 116

Main 40 table #382

   -66 199 299 -81  46 144  60

   -57   1 -54   1 -82  46 144

   -57   2 999

 SCON( 46,-81) =    0

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  15

 SCON(  2,-81) =  609

 -66 056 CONDITION AT  28,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   10

 -66 056 CONDITION AT  35,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:    90, VBRELP =  4

 CELL  5  =   90

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 102

 SCON(  2,-82) =   10

 -66 056 CONDITION AT 107,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =  609

 -66 056 CONDITION AT 114,                              CONTINUE TO THE RIGHT

 SCON( 46,-82) =    0

 -66 056 CONDITION AT 121,                              CONTINUE TO THE RIGHT

 SCON( 11,-82) =    0

 -66 056 CONDITION AT 128,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 -66 056 CONDITION AT 150,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 -66 056 CONDITION AT 172,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 -66 056 CONDITION AT 191,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   10

 SCON(  2,-82) =   10

 -66 056 CONDITION AT 201,                              CONTINUE TO THE RIGHT

 SCON(  2,-82) =   10

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  7   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 248

 SCON(  2,-82) =   10

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  8   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 291

***** A MATCH STARTING AT   4 LEVEL   1       ON ELEMENT  5jj       tran4 

Tran rule #26, ID: 25

(MC) N(PRED ADJ) = (N) / S87 ST386 EGSP4                                        

 1  (1 851 90)

   -63   0   5   1 999    -1  -1

Main 30 table #5

   -66 199 299 -81  13  13 777 -81  31 148  60

   -57   1 -44 -81 107 140   0 -54   1 -81  12   4 -54   1 -81  31   0

   -57   2 -65   0 223   0 999

 SCON( 13,-81) =    6

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  29

Main 50 table #223

   -66 950 971 -81  47 123  60

   -66 950 917 -81  19  51  60

   -66 950 548 -81 231   0  60

   -66 950 649 -81  20 273  60 -55   1 -81   2

   -66 799  56 -81   1   2 777 -81   7   6  60 -55   5 -81  19 -55   3 -81  20

   -56   1 128  56   5 140

   -56   1 237  56   3 140

   -56   3 568  56   1 206 777 777  27   5

   -56   1 458  56   5  51

   -66 568  56 -81  20 187  60

   -66 348  56 -81  20   5  60

   -66 568  56 -81  20  91  60

   -66 678 348 -81  12   5 777 -81  36   3  60

   -57   1 -36  53 -81 -36 140 -81 -11  87  -1   0 -31  11

   -57   2 -11  99  -1   0

   -57   3 -55  29  87   0 -11  87 -38   5  -1   0 -31  11

   -57   4 -55  29  87   0 -11  87 -38   4  -1   0 -13 -81 864   0 607   0 -16   0   0   0   5 607

   -57   5 -55  29  87   0 -11  87 -38   1  -1   0 -31  11

   -57   6 -44 -81 107 140   0 -11  87 455   0 -38   5  -1   0 -31  11

   -57   7 -55  29  87   0 -11  87 -38   6  -1   0 -31  11

   -57   8

   -66 950 514 -81  48  16  60

   -66 950 517 -81  48  19  60 999

 SCON( 47,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 19,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 31,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 20,-81) =    1

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SW55 - LOADED CELL:  1 WITH VALUE:   609, VBRELP =  4

 SCON(  1,-81) =    1

 -66 056 CONDITION AT  40,                              CONTINUE TO THE RIGHT

 SW55 - LOADED CELL:  5 WITH VALUE:     0, VBRELP =  4

 SW55 - LOADED CELL:  3 WITH VALUE:     1, VBRELP =  4

 CELL  5  =    0

 -56 056 CONDITION AT  56,                              CONTINUE TO THE RIGHT

 CELL  3  =    1

 -56 056 CONDITION AT  62,                              CONTINUE TO THE RIGHT

 CELL  1  =  609

 CELL 27  =    9

 -56 056 CONDITION AT  72,                              CONTINUE TO THE RIGHT

 CELL  5  =    0

 -56 056 CONDITION AT  78,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  83,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  90,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    1

 -66 056 CONDITION AT  97,                              CONTINUE TO THE RIGHT

 SCON( 12,-81) =    1

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57  4  JUMP -57  8

 SW57 - VTR BREAK POINT, K3: 132

 SW55 - LOADED CELL: 29 WITH VALUE:  87

 SW57 - VTR BREAK POINT, K3: 146

 SW57 - CONDITIONAL EXECUTION COMPLETED, BRANCH TO:  215

 SW57 - VTR BREAK POINT, K3: 215

 SCON( 48,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

 SCON( 48,-81) =    0

 -66 CONDITION FALSE, CONTINUE THIS VTR 

***** A MATCH STARTING AT   5 LEVEL   1       ON ELEMENT  6jj       tran4 

Tran rule #1598, ID: 1597

(MC) CB = -1 (SICÜ) / UNLOAD SLOTS STS1085 EGSP4                                

 1  (16 -1 -1)

   -46 -81  20   0   0

   -63   0 460   1 -41   1 999     0   0

Main 30 table #460

   -55   5 -81 350 -55   6 -81 351

   -56   1 199  56   6  16

   -66 199  56 -81  20 961  60

   -66 199  56 -81  20  93 777 -81   1  13  60

   -66 199  56 -81  20  93 777 -81   1  11  60

   -66 299  56 -81  60 140 777 -81  46 140  60

   -66 299  56 -81  46 144  60

   -66  56 199 -81   2 820 -81   2 828  60

   -66 299 199 -81  20  88 -81  20  92 -81  20  53  60

   -57   1  91   0  82   0  81   0  85   0 113   0  83   0 118   0 111   0 115   0  88   0 119   0  96   0  89   0 114   0  84   0 116   0  86   0 120   0 -27   1  90   0  87   0  92   0  97   0  98   0  93   0 -55  29   0   0

   -57   2 -55  22   0   0 -55  42   0   0 -55  16   0   0 -55   5 -81 350

   -56   2 499 399   5 888   5 900

   -57   3 -55  15 -81 350

   -57   4 999

 SW55 - LOADED CELL:  5 WITH VALUE:    10, VBRELP =  5

 SW55 - LOADED CELL:  6 WITH VALUE:     1, VBRELP =  5

 CELL  6  =    1

 -56 056 CONDITION AT  13,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    0

 -66 056 CONDITION AT  18,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    0

 -66 056 CONDITION AT  29,                              CONTINUE TO THE RIGHT

 SCON( 20,-81) =    0

 -66 056 CONDITION AT  40,                              CONTINUE TO THE RIGHT

 SCON( 60,-81) =    0

 -66 056 CONDITION AT  51,                              CONTINUE TO THE RIGHT

 SCON( 46,-81) =    0

 -66 056 CONDITION AT  58,                              CONTINUE TO THE RIGHT

 SCON(  2,-81) =   10

 SCON(  2,-81) =   10

 -66 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  1   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  85

 SW38     3   14    1    1    3    3

 SW38    15   25    1    1    4    4

 SW38    26   36    1    1    5    5

 SW55 - LOADED CELL: 29 WITH VALUE:   0

 SW57 - VTR BREAK POINT, K3: 141

 SW55 - LOADED CELL: 22 WITH VALUE:   0

 SW55 - LOADED CELL: 42 WITH VALUE:   0

 SW55 - LOADED CELL: 16 WITH VALUE:   0

 SW55 - LOADED CELL:  5 WITH VALUE:    10, VBRELP =  5

 CELL  5  =   10

 CELL  5  =   10

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  3   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 167

 SW55 - LOADED CELL: 15 WITH VALUE:    10, VBRELP =  5

 SW57 - VTR BREAK POINT, K3: 173

***** A MATCH STARTING AT   5 LEVEL   1       ON ELEMENT  6jj       tran4 

Tran rule #1975, ID: 1974

EOS = EOS / EMPTY SLOTS ST286 EGSP4                                             

 1  (20 10 -1)

   -63   0 533   1 999     0   0

Main 30 table #533

   -64   0 199   0

   -56   1 123 299  67 909

   -57   1  72   0  91   0  82   0  81   0  85   0  83   0  88   0  96   0  89   0  84   0  86   0  90   0  87   0  92   0  97   0  98   0  93   0  -1   0

   -57   2  72   0  91   0  81   0  85   0  83   0  88   0  89   0  96   0  84   0  86   0  90   0  87   0  92   0  82   0  97   0  98   0  93   0  -1   0

   -57   3 999

Main 40 table #199

   -56   9 299  56 418   0 777 777 418  35 777 777 418  38 777 777 418  28 777 777 418   5

   -56   9 299 199 438   0 777 777 438  35 777 777 438  38 777 777 438  28 777 777 438   5

   -57   1 -67  55  18  18   1 -67  55  38  38   1

   -56   9 299  56 418   0 777 777 418  35 777 777 418  38 777 777 418  28 777 777 418   5

   -56   9 299 399 438   0 777 777 438  35 777 777 438  38 777 777 438  28 777 777 438   5

   -57   2 -67   6  18  38 -96 -81

   -57   3 999

 CELL 18  =    3

 CELL 18  =    3

 CELL 18  =    3

 CELL 18  =    3

 CELL 18  =    3

 -56 SWITCH TEST: CONDITION TRUE AT  21

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3: 101

 SW57 - VTR BREAK POINT, K3: 109

 CELL 67  =    0

 -56 SWITCH TEST: CONDITION FALSE

 BRANCH TO -57  2   EXECUTE UNTIL -57 99  JUMP -57 99

 SW57 - VTR BREAK POINT, K3:  49

 SW57 - VTR BREAK POINT, K3:  87

          ------------   tran4  PARSING COMPLETE   -------------

     ----   BEFORE CLEANING UP THE OUTPUT   ----

 TOTAL NUMBER OF CLAUSES IN SENTENCE =   1

 TOTAL NUMBER OF PHRASES (PHCTO)      =   1

 TOTAL NUMBER OF OPADR2 ELEMENTS (OPO)=  45

CLSNFO ARRAYS - NUMBER OF CLAUSES IDENTIFIED   (INCLUDING MAIN CLAUSE) = 1

                NUMBER OF CLAUSES MOVED        (EXCLUDING MAIN CLAUSE) = 0

                NUMBER OF CLAUSES STILL TO BE MOVED                    =  0

              BEGIN  ENDING BEGIN  ENDING

       CLAUSE INPUT  INPUT  OUTPUT OUTPUT PARENT CLMRKR ANTCDN ANTCDN ANTCDN ANTCDN RELPRO

         ID   SWORK  SWORK  SWORK  SWORK  CLAUSE SCONS  SWORK  SCONPT OPIBEG OPIEND SCON  

           1      1      5      1      1      0      0      0      0      0      0      0  

       CLAUSE  PARENT   

         ID    CELLS    ( TRAILING ZEROES ARE NOT PRINTED )

CURRENT CLAUSE ID =  1

CLSCON ARRAYS   (CLSID IS INITIALIZED TO 1. ENTRY NOT PRINTED IF CLSID=1 AND BOTH CMCHLD AND ACHILD = 0

PHRBEG: STARTING OPADRO POSITION OF EACH PHRASE

     1

PHREND: ENDING OPADRO POSITION OF EACH PHRASE

    45

OPADRO

  -108    -1  -102  -107  -107  -103  -105  -108  -106  -101     3  -104  -112  -110  -113  -118  -111  -115  -120  -114

  -116     4  -109  -117  -110  -113  -118  -111  -115  -119  -114  -116  -120  -102  -107  -103  -105  -108  -106  -101

     5  -104  -112  -110     6

SCONPO

    27     1    28     2    29    30    31    32    33    34     3    35    36    37    38    39    40    41    42    43

    44     4    45    46    47    58    59    60    61    62    63    64    65    48    49    50    51    52    53    54

     5    55    56    57     6

HFDOPO

     0     0     0     2     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0

     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0     0

     0     0     0     0     0

     --- T4CLRTRN:  ONLY 1 CLAUSE.  NO REPOSITIONING NEEDED  ---

 ***********     tran4  PROCESSING COMPLETE      **********

 THE SCON FOR tran4 

              1    2    3    4    5    6    7    8    9   10   11   12   13   14   15   16   17   18   19   20

       1     20    1    0    0    0    0    0    0    0    1    0    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       2     14  101    1    1    0    3    1    0    0    2    0    1    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0    0    0   94    0

              1    0    1    0    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       3      1   29    1    1    0    3    1    0    0    3   29    1    9    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0  101    0    1    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   18    0   52    0

              1    0    1    1    0    0    0    0    0    0    0    1    0    0    0    0    0    0    0    0

       4      2  886    1    1    0    3    1    0    0    4   60    2   11    0    0    0    1    1    1    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   13    0    1    0

              1  847   60    1    3    4    0    0  886    0    0   23    0    0    0    0    0    0    0   12

              0    0    0    0    0    1   60    0    3    0    0    0    0    0    0    0    0    0    0    0

       5      1  609    9    3    0    3    5    2    0    5   40    1    6    0    0    0    0    0    0    1

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    1    0    0   16    0   83    0

              1    0   60    1    3   90    0    0  886    0    0    2    0    0    0    0    0    0    0    2

              0    0    0    0    0    7   21    0    1    0    0    0    0    0    0    0    0    0    0    0

       6     20   10    0    0    0    0    0    0    0    6    0    0   10    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

              1    0   60    1    3   90    0    0  886    0    0    1    0    0    0    0    0    0    0    0

       7      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       8      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

       9      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      10      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      11      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      12      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      13      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      14      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      15      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      16      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      17      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      18      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      19      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      20      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      21      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      22      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      23      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      24      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      25      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      26      0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      27    108    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      28    102    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      29    107    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      30    103    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      31    105    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      32    108    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      33    106    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      34    101    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      35    104    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      36    112    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      37    110    0    1    1    0    3    1    0    0    0    0    0    0    0    0    0    0    0    0    0

      38    113    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      39    118    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      40    111    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      41    115    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      42    120    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      43    114    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      44    116    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      45    109    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      46    117    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      47    110    0    0    1    0    3    0    0    0    0    0    0    0    0    0    0    0    0    0    0

      48    102    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      49    107    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      50    103    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      51    105    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      52    108    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      53    106    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      54    101    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      55    104    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      56    112    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

      57    110    0    9    3    0    3    5    2    0    0    0    0    0    0    0    0    0    0    0    0

PHRBEG: STARTING OPADRO POSITION OF EACH PHRASE

     1

PHREND: ENDING OPADRO POSITION OF EACH PHRASE

    45

OPADRO

    -1     2     3     4     5     6

SCONPO

     1     2     3     4     5     6

HFDOPO

     0     0     0     2     0     0

*EOS*

*TRANSL OUT*

*Scon Information*

OPADR CASE DECL DEGR GEND NUMB PERS TENS  PAT   WC SC08  SSU CC  SMC

   -1    0    0    0    0    0    0    0    0   20    0    0 LOG                 

    2    1    1    1    1    1    3    1   94   14    0    0 LOG 001             der

    3    1    1    1    1    1    3    1   52    1    0    0 LOG 001             Himmel

    4    1    1    2    1    1    3    1    1    2    0    0 LOG 001             sein

    5    5    9    1    3    1    3    5  443    4    2    0 LOG 001             blau

    6    0    0    0    0    0    0    0    0   20    0    0 LOG 001             .

*From Dictionary*

 der Himmel sein blau.

*After Stemgen*

 der Himmel ist blau.

*After Black Hole*

 der Himmel ist blau.

*After Finish Rules*

 der Himmel ist blau.

*After deleteEmptyUnits*

 der Himmel ist blau.

*After Capitalization*

 Der Himmel ist blau.

*After adjustFinalSpaces*

Der Himmel ist blau.

*After Pattern Matcher*

Pattern matcher has no rules

*After Complete Generate*

Der Himmel ist blau.

*Output*

Der Himmel ist blau.

*EOS*

